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Question Number : 1 Question Id : 1908891492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dimension of density is
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Options :

1908895901. 1
1908895902. 2
1908895903. 3

1908895904. 4

Question Number : 1 Question Id : 1908891492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:



1908895901. 1
1908895902. 2
1908895903. 3

1908895904. 4

Question Number : 2 Question Id : 1908891493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct way to write the SI unit of acceleration 1s
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Options :

1908895905. 1
1908895906. 2
1908895907. 3

1908895908. 4

Question Number : 2 Question Id : 1908891493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908895905. 1
1908895906. 2

1908895907. 3



1908895908. 4

Question Number : 3 Question Id : 1908891494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Griven two vectors
A =40 - 2
B =2{+k

The sealar product A.B is

k: B
2 B
3. f
4. 1
Options :

1908895909. 1
1908895910. 2
1908895911. 3
1908895912. 4

Question Number : 3 Question Id : 1908891494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088959009. 1
1908895910. 2
1908895911. 3
1908895912. 4

Question Number : 4 Question Id : 1908891495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The velocity time graph of a point mass moving n +x direction 1s shown below. The acceleration
of a point mass is

Velocity 3 /:

(m/s) /
2| #

1

0.25 m/s’
0.4 m/s’
0.8 m/s’
1.0 m/s”

b =

e

Options:



1908895913. 1
1908895914. 2
1908895915. 3

1908895916. 4

Question Number : 4 Question Id : 1908891495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2

0.25 m/s”
0.4 m/s”
0.8 m/'s’
1.0 m/s>
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Options :

1908895913. 1
1908895914. 2
1908895915. 3

1908895916. 4

Question Number : 5 Question Id : 1908891496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass 4 kg 15 resting on a rough horizontal surface. Its given an impulse so that it
moves with mitial velocity of 0.5 m/s. It comes to rest after traveling a distance of Sm. The work
done by the frictional foree on the block i,

1. 0.17]
2. 04]
3 053
4. 08]
Options :
1908895917. 1
1908895918. 2
1908895919. 3

1908895920. 4

Question Number : 5 Question Id : 1908891496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895917. 1
1908895918. 2
1908895919. 3

1908895920. 4

Question Number : 6 Question Id : 1908891497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The value of acceleration due to gravity on the surface of a planet of radms of 0.5 times carth's
radius is 0.8g (where g =10 m/s”). The mass of the planet 1s (Mg = Mass of Earth) equal to

0.1 Mg
0.2 Mg
0.4 Mg
Mg

e b
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Options :

1908895921. 1
1908895922. 2
1908895923. 3

1908895924. 4

Question Number : 6 Question Id : 1908891497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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0.1 Mg
0.2 Mg
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Options :

1908895921. 1
1908895922. 2
1908895923. 3
1908895924. 4

Question Number : 7 Question Id : 1908891498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



; . ; 5 3 :
The value of acceleration due to gravity on the surface of a planet 1s 5 th that of earth. The

radius of the planet 15 = of earth's radius. What 1s the escape speed from the surface of the

planet. Given the escape speed from the surface of earth 1s Vekm/s

|
=

[ ]
I
=

L)

=
|
=~

Options :

1908895925. 1
1908895926. 2
1908895927. 3

1908895928. 4

Question Number : 7 Question Id : 1908891498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895925. 1



1908895926. 2
1908895927. 3

1908895928. 4

Question Number : 8 Question Id : 1908891499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ball 1s spinning on a horizontal suface, about the vertical axis passing through its center. Its
angular velocity decreases from 2+ rad/s to » rad/s in 10 s. If the moment of inertia of the ball
. i, . .

15 0.5 kg m", the torque acting on the ball 15

1. - a Nm
T

2. ~ % Nm

3. . Nm
20

4 . Nm
10

Options:

1908895929. 1
1908895930. 2
1908895931. 3
1908895932. 4

Question Number : 8 Question Id : 1908891499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895929. 1
1908895930. 2
1908895931. 3
1908895932. 4

Question Number : 9 Question Id : 1908891500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the statements written below 1s NOT true for an 1sothermal process.

1. The temperature of the system 1s kept constant.

2. Inan 1sothermal process PV = constant. where P 1s the pressure and V the volume of the
gas.

3. There is no change in the internal energy of an 1deal gas.

4. Internal energy of an 1deal gas changes in an isothermal process.

Options :

1908895933. 1
1908895934. 2
1908895935. 3

1908895936. 4

Question Number : 9 Question Id : 1908891500 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895933. 1
1908895934. 2
1908895935. 3

1908895936. 4

Question Number : 10 Question Id : 1908891501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An electric heater supplies heat to a system at a rate of 100 W. If the system performs work at a
rate of 75 W, what 1s the rate of inerease of internal energy?

25W
100 W
175 W
5W
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Options :

1908895937. 1
1908895938. 2
1908895939. 3
1908895940. 4

Question Number : 10 Question Id : 1908891501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

1908895937. 1
1908895938. 2
1908895939. 3

1908895940. 4

Question Number : 11 Question Id : 1908891502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two similar closed containers contain the same amount of an ideal gas at temperature of 27° C
and 127° C. The ratio of the average kinetic energy of the molecule in the two contamers s

1. 23/123
2. 3/4
3. 14
4. 112
Options:
1908895941. 1
1908895942. 2
1908895943. 3

1908895944. 4

Question Number : 11 Question Id : 1908891502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908895941. 1
1908895942. 2
1908895943. 3

1908895944. 4

Question Number : 12 Question Id : 1908891503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio Cp/ Cv for monatomic gas is (Cp = molar specific heat at constant pressure, Cv =
molar specific heat at constant volume)

3
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Options :

1908895945. 1
1908895946. 2
1908895947. 3

1908895948. 4

Question Number : 12 Question Id : 1908891503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895945. 1
1908895946. 2
1908895947. 3

1908895948. 4

Question Number : 13 Question Id : 1908891504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body oscillates with simple harmonic motion according to the equation [in SI units].

=5 CDS(EHT + g)

The displacement of the body at time t = 1.5 5 1s.

. -5m
2. =25m
3. -20m
4 —-1.0m
Options :

1908895949. 1
1908895950. 2
1908895951. 3

1908895952. 4

Question Number : 13 Question Id : 1908891504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
F R Ffeor (SITRRa ) x5 !'z,”gasmgmmmwm
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. -5m
2. -25m
3. =20m
4 -10m
Options :

1908895949. 1
1908895950. 2
1908895951. 3

1908895952. 4

Question Number : 14 Question Id : 1908891505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The speed of the sound at 0° C 15 nearly 330 m/ s. For a frequency of 200 Hz the wavelength 1s.

1.0m
1.5m
1.65m
1.75m
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Options :

1908895953. 1
1908895954, 2
1908895955. 3

1908895956. 4

Question Number : 14 Question Id : 1908891505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1.0m
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1.65m
1.75m
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Options :

1908895953. 1
1908895954. 2
1908895955. 3
1908895956. 4

Question Number : 15 Question Id : 1908891506 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A pipe of length 11 em is closed at one end. The first harmonic frequency of the pipe. in air at
0° C 1s (Veloeity of sound at 0° C = 330 m/s)

1200 Hz
1000 Hz
800 Hz
750 Hz
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Options :

1908895957. 1
1908895958. 2
1908895959. 3

1908895960. 4

Question Number : 15 Question Id : 1908891506 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(0°C 9T & T 37 =330 m's)

1200 Hz
1000 Hz
800 Hz
750 Hz
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Options :

1908895957. 1
1908895958. 2
1908895959. 3

1908895960. 4

Question Number : 16 Question Id : 1908891507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. - " . " ] . . . '
A dise of radius 1m and moment of inertia 2 kg m 1s rolling on a horizontal surface. If the linear
velocity of the disc 1s 10 em/s. what is its rotational kinetic energy?

1. 04]

% B}

3. 017

4. 0017
Options :
1908895961. 1
1908895962. 2
1908895963. 3

1908895964. 4

Question Number : 16 Question Id : 1908891507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895961. 1
1908895962. 2
1908895963. 3

1908895964. 4

Question Number : 17 Question Id : 1908891508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For most liquids, which of the following statement 1s correct.

1. Viscosity and surface tension decrease with temperature.
2. Viscosity and surface tension imnerease with temperature.
3. Viscosity decreases while surface tension increases with temperature.
4. Viscosity increases while surface tension decreases with temperature.

Options :

1908895965. 1
1908895966. 2
1908895967. 3
1908895968. 4

Question Number : 17 Question Id : 1908891508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895965. 1
1908895966. 2
1908895967. 3

1908895968. 4

Question Number : 18 Question Id : 1908891509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal and oppsite deforming forces are applied parallel to the cross sectional area of a
cylinder as shown in figure. 8 is the angular displacement of the cylinder from the vertical The
shearing strain 15 given by

siné
cos
cot &
tan @

et S e

Options :

1908895969. 1
1908895970. 2
1908895971. 3



1908895972. 4

Question Number : 18 Question Id : 1908891509 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088959609. 1
1908895970. 2
1908895971. 3

1908895972. 4

Question Number : 19 Question Id : 1908891510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



At a depth of 1km 1n an ocean. the absolute pressure and the gauge pressure are respectively,
. 3 densitv of oo SR LI 3 k A 2
(Patmosphere = 1.01 x 107 Pa. density of ocean water = 1.03 x 10" kg/m’, g = 10 m/s")

1.01x 10’ Pa, 103x 10’ Pa

104.01 x 10° Pa. 103 x 10’ Pa
103 x 10’ Pa, 104.01 x 10° Pa
1030.1 x 10° Pa. 103 x 10° Pa

bt =

el

Options :

1908895973. 1
1908895974. 2
1908895975. 3

1908895976. 4

Question Number : 19 Question Id : 1908891510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THE ¥ 1km FT TWE | R/A g AR I I F741 29y 2

( Pamosphere = 1.01 x 10° Pa, HHAT el HT Eoled = 1.03x 10° kg/m’, g = 10 m/s?)

1. 1.01x 10’ Pa, 103x 10’ Pa
2. 104.01x 10’ Pa, 103 x 10° Pa
3. 103x10° Pa, 104.01x 10’ Pa
4. 1030.1x 10° Pa, 103 x 10’ Pa

Options :

1908895973. 1
1908895974. 2
1908895975. 3

1908895976. 4

Question Number : 20 Question Id : 1908891511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A mass spring system 1s shown in the fig, If the spring constant of the spring 1s § N/m and mass
is 2 kg, the time period of small oscillation is,
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Options :

1908895977. 1
1908895978. 2
1908895979. 3
1908895980. 4

Question Number : 20 Question Id : 1908891511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895977. 1
1908895978. 2
1908895979. 3



1908895980. 4

Question Number : 21 Question Id : 1908891512 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The potential differences between two points A and B 15 5 V. The energy required to move a
charge. q=1.6x 10C is

08x10%77]
3x1077
5x1077
8x 1077

o

NS

Options :

1908895981. 1
1908895982. 2
1908895983. 3

1908895984. 4

Question Number : 21 Question Id : 1908891512 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g g A HT B# fF@ay S VE TF &Y q=16x107°C F 9 &7 & oo
fopaelt ST #T HFTHAT 2Rl

0.8x1077
3x10%77
5x10%7
8x107

b

S Y

Options :

1908895981. 1
1908895982. 2
1908895983. 3
1908895984. 4



Question Number : 22 Question Id : 1908891513 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A 1.2 pF capacitor 1s charged to 3 kV. The energy stored in the capacitor 1s
1. 547
2. 3617

187
0917

5w

Options :

1908895985. 1
1908895986. 2
1908895987. 3
1908895988. 4

Question Number : 22 Question Id : 1908891513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF 12 uF F TUNT F 3kVaF ¥ a7 81 57 39w & gufE § afm
FAT faat g o

541
3.6]
3. 18]
4. 097

bt

Options :

1908895985. 1
1908895986. 2
1908895987. 3

1908895988. 4

Question Number : 23 Question Id : 1908891514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A cell has emf of 2.2 V and 1its internal resistance 15 0.1 Q. What 15 the current in the cirewt, if
the cell 1s connected across a resistance of 1 Q.

1A

15A
20A
25 A

e N S R

Options :

19088959809. 1
1908895990. 2
1908895991. 3

1908895992. 4

Question Number : 23 Question Id : 1908891514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF O F emf22 VE AT 30F0F a0 0.1 Q&1 9y & g $r ar e
gl 3R W 1 Qe & WY S E 2

1A

15A
20A
25A

b —

i

Options :

1908895989. 1
1908895990. 2
1908895991. 3

1908895992. 4

Question Number : 24 Question Id : 1908891515 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An electric heater takes 2.5 A from 220 V line. The energy input 1s KW.h supplied to the heater
mlhis

1.0KW.h
1.1KWh
22KWh
24KWh

[ e R

Options :

1908895993. 1
1908895994. 2
1908895995. 3

1908895996. 4

Question Number : 24 Question Id : 1908891515 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7% f3gga AT TF 220V A OR7 2.5 AF 4 o0 81 39 8T 29¢ H =16
FaTar # e FoAr T (KWh) Sraeaear e

1.OKW.h
1.1KWh
22KWh
24KW.h

[

il

Options :

1908895993. 1
1908895994, 2
1908895995. 3

1908895996. 4

Question Number : 25 Question Id : 1908891516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the circuit shown in figure. applying the loop rule to the loop abca gives,

VW VWA
79 b gp

1. -12+ 7L -4I3=0

2. 12+7;-45=0

3. -12-T +413=0

4. -12+TL+453=0
Options :

1908895997. 1
1908895998. 2
1908895999. 3

1908896000. 4

Question Number : 25 Question Id : 1908891516 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT T I IRUY H abea 7T &IH IR T FT AT g

70 b 80

1. =12+ 7 -413=0

2. 12+T7L-413=0

3. -12-7; +415=0

4. <12+ T +4I3=0
Options :

1908895997. 1
1908895998. 2
1908895999. 3

1908896000. 4

Question Number : 26 Question Id : 1908891517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton enters a magnetic field of 1.5 T with velocity of 2 x 10" m/s at an angle of 30° with the
field. The force on the proton is (e = 1.6 x 10 C)

1. 24x10x10°N

2. 24x 10N

3 2.4x10'1iN

4. 24x 10N
Options :
1908896001. 1

1908896002. 2



1908896003. 3
1908896004. 4

Question Number : 26 Question Id : 1908891517 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e TF 15 TH TFaig 87 H2x 10 ws ¥ 371 § Terar § 5wer f5 Forse
g1 50 IR F 9O F FW I AT F (c=16x1070)

24x10x10°N
24x 101N
24x 10N
24x 10PN

- —

o

Options :

1908896001. 1
1908896002. 2
1908896003. 3
1908896004. 4

Question Number : 27 Question Id : 1908891518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two long parallel wires are 4cm apart and carry currents of 2 A and 6 A in the same direction.
What 15 the force between the wires per meter of wire length?

4x l{}'? N/m
6x10° N/m
6x10°N/m
6x10™ N/m

bt —

g e

Options :

1908896005. 1
1908896006. 2
1908896007. 3

1908896008. 4



Question Number : 27 Question Id : 1908891518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E«Tmmm?ﬁﬁ;W@T@'4cmﬁ{ﬂﬂ?$mﬁ?&?ﬁl.&m
AT R AN EME A T AR e s uffler aRi S s T 2 °

4x10° N/m
6x10° N/'m
6x 10° N'm
6x10* N'm

g =

e

Options :

1908896005. 1
1908896006. 2
1908896007. 3

1908896008. 4

Question Number : 28 Question Id : 1908891519 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A coil of area 100 em’ is held perpendicular to a magnetic field B=10.2 T. It 1s rotated by an
angle 90° to make 1t parallel to the field i 2 s, What 1s the emf produced i the coil?

0.1x107V
02x10%V
0.1x10tV
02x10°V

o =

e

Options:

19088960009. 1
1908896010. 2
1908896011. 3

1908896012. 4

Question Number : 28 Question Id : 1908891519 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T FZa forahl &% 100 e’ §: 98 T Traanid 898 =02 TR FFaad §| N
TE90°F FIT T GO Fh F3ol F FA 2 s F I 8.9 gz 7 forqar
emf3?‘:|r_r|'§ﬂ?'|'|'|

0.1x10%V
02x107V
0.1x107 Vv
02x10°V

o =

:L.b.E_h-

Options :

19088960009. 1
1908896010. 2
1908896011. 3
1908896012. 4

Question Number : 29 Question Id : 1908891520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An ac voltage V 1s applied across an impedance, that gives rise to a current I, The angle between
VandIis @ . The power loss 15

Vlcos 8
VIsmé
VIcosd
Vlsm8

I R

Options :

1908896013. 1
1908896014. 2
1908896015. 3
1908896016. 4

Question Number : 29 Question Id : 1908891520 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

TF UHL. s V. UF Fiqanr W o9 a1 § o f5 o 191 309 F:3aT 2)
VHT I1F &9 F o T F07 §| 57 w9 7 o F 87 F a9 =g aen o

VIcosd
VIsing
3. Vlcosé
4. VIsmné

Fod b

Options :

1908896013. 1
1908896014. 2
1908896015. 3
1908896016. 4

Question Number : 30 Question Id : 1908891521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 100V, 50 Hz ac voltage source 1s applied across 2 uF capacitor. The current in the circuit 1s.

42 mA
62.8 mA
200 mA
300 mA

e Lad BD

Options :

1908896017. 1
1908896018. 2
1908896019. 3

1908896020. 4

Question Number : 30 Question Id : 1908891521 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T 100V. 50 Hz 37 TH. aees 2 uF WOIRT W 3IgFd F1 1 g1 38 979y #
U7 Fr A el

42 mA
62.8 mA
200 mA
300 mA

|

o

Options :

1908896017. 1
1908896018. 2
1908896019. 3
1908896020. 4

Question Number : 31 Question Id : 1908891522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A step-down transformer operates on 2 k V line. The ratio of the primary winding to the
secondary winding 1s 20 : 1. Assuming 100% efficiency. the secondary voltage Vi s -

100V
110V
200V
250V

b b

et

Options :
1908896021. 1
1908896022.

1908896023.

A W N

1908896024.

Question Number : 31 Question Id : 1908891522 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T HEHES JEGHT 2k VN 1@ W R FaT 8 JE W TEE Fused AN
gfadrT 3o F H 20 181 A 5 100% G871 F W FH FAr v ¢ 79
gfada Aee Vo 2hT :

100V
110V
200V
250V

e

Options :

1908896021. 1
1908896022. 2
1908896023. 3

1908896024. 4

Question Number : 32 Question Id : 1908891523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The glass prism shown in the figure has an mdex of refraction of 1.5, The angle of refraction. r 15

30°
g f
/E-—""'_'_FF

4

1. sin0.75)
sin"'(0.6)
3. sin™0.5)
4. sin(0.25)

| ]

Options :
1908896025. 1

1908896026. 2



1908896027. 3
1908896028. 4

Question Number : 32 Question Id : 1908891523 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF F9 R (S 5 R & getn ) # dvEas ques 15 S
anéﬂ'ﬂmﬂnfgnﬁi

Q

_

1. sin *0.75)

[ ]

sin "(0.6)
3. s Y0.5)
4, sin'0.25)
Options :
1908896025. 1
1908896026. 2
1908896027. 3

1908896028. 4

Question Number : 33 Question Id : 1908891524 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The radii of curvature of the faces of a double convex lens are 10 em and 15 em. Its focal length
15 12 cm. What 15 the refractive index of the material of the lens?

1.2
L5
1.6
1.8

b —

e el

Options :

19088960209. 1
1908896030. 2
1908896031. 3

1908896032. 4

Question Number : 33 Question Id : 1908891524 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T+ 218l 3ead oF o 3% 5 10 e 3T 15 cn B Wﬁm@]l‘cmﬂ?
£ o8 F FETad GIHS 1L

1.2
1.5
1.6
1.8

|

b

Options:

1908896029. 1
1908896030. 2
1908896031. 3
1908896032. 4

Question Number : 34 Question Id : 1908891525 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A telescope should be made of a objective lens which has

1. smaller focal length and smaller aperture than the eyepiece

2. larger focal length and smaller aperture than the evepiece

3. smaller focal length and larger aperture than the eyepiece

4. larger focal length and larger aperture than the eyepiece
Options :

1908896033. 1
1908896034. 2
1908896035. 3

1908896036. 4

Question Number : 34 Question Id : 1908891525 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0% SERIT T HHTTF o5 Fg TE F7 FaT gam g =R

1. FF Bl i AT FH ATIH ZaHF
SIS BFe &3 AT FA AT @a7F
FH B gl AR AR ATF @ERE
4. SART B I A FAET ARFFT &@RF

[ ]

Faa

Options:

1908896033. 1
1908896034. 2
1908896035. 3
1908896036. 4

Question Number : 35 Question Id : 1908891526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two 1dentical polaroid sheets are held perpendicular to an unpolarized light beam. If I, 1s the
mtensity of the beam between the two polaroids and I. the intensity of the emergent beam (see
figure). then the mtensity ratio 1s I, = 1/2

The angle between the pass axes of the two polaroids is,

Polaroid
"\\
AN
1 2

e
W

90°
60°
45°
30°

Fa Laa B

Options :

1908896037. 1
1908896038. 2
1908896039. 3

1908896040. 4

Question Number : 35 Question Id : 1908891526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



& T T ¥ GRS T UF HAUeNSS TR F FFEd W AT ¢

IR L, Seriss & faseor gt (m) r fiear € 19T e arelr fseor 9o
g & (ST & o & quiar mm §1) 79 e # e UL = 1281 g s
1 I TN T FT FI0T FA I 2

Polaroid

/”ff \\x
1 2

L 4
L

90°
60°
45°
30°

|

e

Options :

1908896037. 1
1908896038. 2
1908896039. 3

1908896040. 4

Question Number : 36 Question Id : 1908891527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The variation of stopping potential (V) with frequency (v ) for a photosensitive matenal 1s
correctly shown in

\\
1,
»
2,
>V
3.
Vs
>|u’
4 Vs
;'v'
Options :

1908896041. 1
1908896042. 2
1908896043. 3
1908896044. 4

Question Number : 36 Question Id : 1908891527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A o o Rt 31 o e A verd (v) 1 faeedt v 1 oftan smgfed
F @ g s s e saow e

g

'\\

Options:

1908896041. 1
1908896042. 2
1908896043. 3

1908896044. 4

Question Number : 37 Question Id : 1908891528 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of an electron that has been accelerated by a potential difference V
volt 15 0.12 nm. The potential difference 1s nearly.

10V
20V
50V
100V

I o N R

Options :

1908896045. 1
1908896046. 2
1908896047. 3

1908896048. 4

Question Number : 37 Question Id : 1908891528 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF Soigid 1 & Jieel e 0.12 um | T SO T Valee F 399 @
i RaT 1 @1 21 39 HIEA F Soid F fdeE HaT Fw gem

10V
20V
50V
100V

e L e

Options :

1908896045. 1
1908896046. 2
1908896047. 3

1908896048. 4

Question Number : 38 Question Id : 1908891529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an experiment of g-particle scattering bw{' gold - foil (Geiger- Marsdon experiment), the
. . . 12 . . .

o-particles have kinetic energy = 1.2 x 107" J. What 1s the approximate distance of closest

approach of the & - particles to the gold nuclu? (Z,,3=79)

ix 10'1? 11
3x10%m
3x10%m
ix l{l}'11 1

b —

i

Options :

1908896049. 1
1908896050. 2
1908896051. 3

1908896052. 4

Question Number : 38 Question Id : 1908891529 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TF o - F & THUT T997 &, Fed #7 EFUEH (Geiger- Marsdon m) TaT T A gl
T W - H H AAS FA112x 1071F] T T T F 7F09E F o - F7
~gAA G el & (Zeu=79)

3x10%m
3x10%m
3. ixlﬂ'nm
4 3x 10'11111

| S

Options :

1908896049. 1
1908896050. 2
1908896051. 3

1908896052. 4

Question Number : 39 Question Id : 1908891530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The radius of the innermost electron orbit in hydrogen atom is 5.3 x 10™! m. What is the radius
of the third orbit ?

11.3x10Mm
120510 m
15.0x 10 m
C477x10Mm

|

Y

Options :

1908896053. 1
1908896054. 2
1908896055. 3

1908896056. 4

Question Number : 39 Question Id : 1908891530 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FESSA F Hata® F& # T3 x 10 mE| swh Sy w7 Fr Few e
gt 2

113x10Mm
120x10Mm
15.9x10 M m
47.7 % 10'11111

[ R R

Options :

1908896053. 1
1908896054 2
1908896055. 3

1908896056. 4

Question Number : 40 Question Id : 1908891531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following statements 1s NOT true about nuclear forces?

1. Nuclear force between two nucleous falls rapidly to zero as their distance increases more
than few femtometres

The nuclear force 1s much stronger than coulomb force

Nuclear force between two nucleous is repulsive for distances larger than 0.8 fm
Nuclear force between neutron - neutron. proton - neutron and proton - proton are
approximately the same

[

e L

Options:

1908896057. 1
1908896058. 2
1908896059. 3
1908896060. 4

Question Number : 40 Question Id : 1908891531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT Fal F for AmeeT # & Saw suF g @ o

1. g ~g*ede & 99 § JEHT 99 57 A7 599§ g g1 3N 396 A
1 ¢l IO FAIHIT T FA &

). AN T, FollA aof & SAET A Al 2

3. & 7gfFed & @ A AR ao Giael g g1 3N 3 @ Fr gh
08fmg

4. FAEIA - FAEA. WeiA - A Z IS - Tea F & & AFHT 97 Fi9
F9 TF 9 &£

Options :

1908896057. 1
1908896058. 2
1908896059. 3

1908896060. 4

Question Number : 41 Question Id : 1908891532 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the fission reaction

1 235 236 144 B9 ;- ]
ot + “goU = “u = + Ba+ Ar+neutrons

the number of neutrons produced 1s

| |
3. 3
4. 4
Options :

1908896061. 1
1908896062. 2
1908896063. 3
1908896064. 4

Question Number : 41 Question Id : 1908891532 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frmza sfafsrars fow

i 1

i o 236 144 89 M. v v ;
N+ “pu = u-2 + i Bat Kr+-4cH Tgl Fuel & SEar fhaer gen 2

I |
2 2
3 3
4. 4
Options:

1908896061. 1
1908896062. 2
1908896063. 3
1908896064. 4



Question Number : 42 Question Id : 1908891533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the density of methane (molar mass 16 g) in a cylinder. at 27° C and pressure 600 kPa.
(R=8.3 ITmol'k™)

3.8x10° kg 11113
3.8x 10°kg/m’
3.8x10'kg m’
3.8 kg/m’

e o D

Options :

1908896065. 1
1908896066. 2
1908896067. 3

1908896068. 4

Question Number : 42 Question Id : 1908891533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U+ st # o 5 e 9 1 aees 4w gem o

(AT geT = 16 g ATTATT 27°C HX T 600 kPa) (R =8.3 Tmol'k?)

3.8x10° kg 111':‘
3.8x10° ke m’
3.8x 10 kg/m’
3.8 kg m’

bl

o

Options :

1908896065. 1
1908896066. 2
1908896067. 3

1908896068. 4



Question Number : 43 Question Id : 1908891534 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The dopant that can be used to produce p.type semiconductor 1s

Arsenic
Aluminium
Antimony
Phosphorus

La b

-

Options :

19088960609. 1
1908896070. 2
1908896071. 3

1908896072. 4

Question Number : 43 Question Id : 1908891534 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
p.dEF WU+ F T FiF @1 = w1 F Far FmEe

1. Arsenic [m
Aluminium (T v:rzlh_lf HaTH)

[ ]

3. Antimony (TSIHAT)
4. Phosphorus (PIERIH)
Options :

1908896069. 1
1908896070. 2
1908896071. 3

1908896072. 4

Question Number : 44 Question Id : 1908891535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the following devices is used in voltage regulator?

1. Zener diode

2. Solar cell
Photodiode

Light emitting diode

Ao

Options :

1908896073. 1
1908896074. 2
1908896075. 3
1908896076. 4

Question Number : 44 Question Id : 1908891535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AaoTEd # ¥ FIA8T I9 Sece @IEaaT F T3 H o am Far £ 2

1. S 3AE
2. @ o
. FIREEE
4. YFIIM 3cHSAF AT

=

(%]

Options:

1908896073. 1
1908896074. 2
1908896075. 3

1908896076. 4

Question Number : 45 Question Id : 1908891536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ozone layer protects us from

ultraviolet rays from the sun
infrared rays from the sun
X-rays from the sun

Lad b

.

Y-rays from the sun

Options :

1908896077. 1
1908896078. 2
1908896079. 3

1908896080. 4

Question Number : 45 Question Id : 1908891536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aNtsist O3 gaTdt frad Jgrem &t 82

1. 7 B o arelt sreTaTadE fswuit B
2. 3 @ am areht EwmRE ROl A

3. 3 ¥ 3t areht x-faszoit A

4. T ¥ 3t areht y-Reoit &

Options :

1908896077. 1
1908896078. 2
1908896079. 3

1908896080. 4

Question Number : 46 Question Id : 1908891537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A plane electromagnetic wave travels in free space along the x direction. At a particular point
vector B is2x10® kT. What is the vector E at this point?

1. 6}\-"111
g 2 f\-"m
3. 6iVim
6 kV/m

=

Options :

1908896081. 1
1908896082. 2
1908896083. 3
1908896084. 4

Question Number : 46 Question Id : 1908891537 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T% WAAA faegd - TFashid a1 x - faon # 5% w0 8 qfaAe g1 0F @i famgw
B=2x10" kT 98 W E Tfgr g

1. 6}\-’111

[ ]

2 j\-" m
3. 61V/m
4. 6 kV/m
Options :
1908896081. 1
1908896082. 2
1908896083. 3

1908896084. 4

Question Number : 47 Question Id : 1908891538 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A series LRC circuit 1s connected to a ac source. Given L =5 H, C =80 uF and R =40 Q. What
the source frequency which drives the circuit in resonance?

1. 25/m Hz
2. 50/m Hz
3. 100/m Hz
4. 200/m Hz

Options :

1908896085. 1
1908896086. 2
1908896087. 3

1908896088. 4

Question Number : 47 Question Id : 1908891538 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T LRC URTY T TH. Hd § T §4 {1 T W L=5H C=30 uF HT R=400

¢l T W T #r 3gfed F gl o

1. 25/m Hz
. 50/m Hz
. 100/m Hz
. 200/m Hz

= [P R

Options :

1908896085. 1
1908896086. 2
1908896087. 3
1908896088. 4

Question Number : 48 Question Id : 1908891539 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two capacitors of capacitances 2 pF and 3 pF are connected in parallel and connected to 100 V
supply. The charge stored 13

5pC
500 pC
5000 pC
50 pC

e —t

e

Options :

1908896089. 1
1908896090. 2
1908896091. 3

1908896092. 4

Question Number : 48 Question Id : 1908891539 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o Wi FoTa @it 2 pF 3 3 pF §1 98 WA, 100 VA 3fd F 7 8 g0
&| wfed wEy Y AR

5pC
500 pC
5000 pC
50 pC

[

o S

Options :

1908896089. 1
1908896090. 2
1908896091. 3
1908896092. 4

Question Number : 49 Question Id : 1908891540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A horizontal pipe 1s shown in the figure. The velocity of water at the point A and the point B are
20 emy's and 30 cov/s respectively. The pressure difference between the point A and point B 15
(density of water = 1000 kg/m’)

50 Pa
40 Pa
3. 25Pa
4. 0.5Pa

|

Options :

1908896093. 1
1908896094. 2
1908896095. 3

1908896096. 4

Question Number : 49 Question Id : 1908891540 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁwﬂﬁammhwﬁmﬁmﬂ.&wmcmsm BT 30 cm’s gl
BT ¥ g AR BF 99 # g F H e g

(TET 9T FT Tefed = 1000 kg/'m?)

50 Pa
40 Pa
25Pa
0.5 Pa

b

e L

Options :

1908896093. 1



1908896094. 2
1908896095. 3

1908896096. 4

Question Number : 50 Question Id : 1908891541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the equation J = oE

7 1s current density. E the electric field. The constant ¢ is

1. mobility
2. resistivity

3. resistance

4. conductivity
Options :
1908896097. 1
1908896098. 2
1908896099. 3

1908896100. 4

Question Number : 50 Question Id : 1908891541 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A= feT a1 g
TeeE B

Sl J = U H Uelcd. £ = g &7 | @aai+ - gl

. Fferefrerar
gieRreshar
3. gfanr

4. STelhdT

[—

[

Options :

1908896097. 1
1908896098. 2
1908896099. 3
1908896100. 4
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Question Number : 51 Question Id : 1908891542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Natural rubbers shows high water absorption capaeity.

Statement IT: 5% of sulphur 1s used as a cross-linking agent in the manufacture of tyre.
In light of the above statements, choose the correer answer from the options given below:
Both Statement I and Statement IT are true

Both Statement I and Statement IT are false

3. Statement I 1s true but Statement II 1s false
4. Statement I 1s false but Statement I 15 true

[

Options :

1908896101. 1
1908896102. 2
1908896103. 3

1908896104. 4

Question Number : 51 Question Id : 1908891542 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 2 Fud e A

FUF - 1: T @ 329 Fo HIAW A/ GE1d £

FUT - I1: 5% TEHT T 399 71 & 70 # sro-Rfer vee & w0 & frm
T 2

3T FUA F FAF & rAoNQT @Fedt # H FEl el I

1. FU 13R naa & &
2. FUA 137 n3E 7o £
3. FU 18 2. g Fue 1700 B
4. FUS 17007 ¢, e U 1 HE E



Options :

1908896101. 1
1908896102. 2
1908896103. 3

1908896104. 4

Question Number : 52 Question Id : 1908891543 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Codeine comes under the category of:
Non-narcotic analgesics
Narcotic analgesics

Antibiotics
Disinfectants

LI B

L

Options:

1908896105. 1
1908896106. 2
1908896107. 3
1908896108. 4

Question Number : 52 Question Id : 1908891543 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FrEe _ Aoft 7 1T 8

1. 3Eaae drEEr
2. TE9s 9IEEnr
3. gfasifas

4. TagwTHE

Options :

1908896105. 1



1908896106. 2
1908896107. 3

1908896108. 4

Question Number : 53 Question Id : 1908891544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following reaction sequence:

CH;Mal Acidic Hydrolysis
00— M . SekcHyihe
CHCH,0CH,CH

The structure of B 1s:

NMgl
CH1
NCH
H
— 0
choO—{
N CH
D
: NHCH3,

[

L]

Options :

19088961009. 1
1908896110. 2
1908896111.3

1908896112. 4

Question Number : 53 Question Id : 1908891544 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

fFfotad iR segFa A

CHaMgl - ,
H3CD—®CEN avig - A Acidic Hydrolysis . B
CH4CH,0OCH,CH4

i:j i
NHCH;

Options :

19088961009. 1
1908896110. 2
1908896111.3

1908896112. 4

Question Number : 54 Question Id : 1908891545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The structure of semicarbazone of ethylmethyl ketone 1s:

H
:>=N—N—Q—NH2
O

8, O
H
Dl
O
3.
H
_\fN—N—(I'!J—NHg
4. &
Options:

1908896113. 1
1908896114. 2
1908896115. 3
1908896116. 4

Question Number : 54 Question Id : 1908891545 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ReARe e F aHFEAT FI " §

H
:>:N ~N—-G—NH
O

1.
}N—E}—N Hs
2. O
H
Dl
|
O
3.
H
N—N—%—NH;
O
4.
Options :

1908896113. 1
1908896114. 2
1908896115. 3
1908896116. 4

Question Number : 55 Question Id : 1908891546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The formula of yellow colored compound formed in the reaction of 2-propanone with sodium
hypoiodite 1s:

l. kL
0

[
H,C - C-CI;
CHal
CHI;

[ S I

Options :
1908896117. 1
1908896118. 2

1908896119. 3



1908896120. 4

Question Number : 55 Question Id : 1908891546 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TIETR FEAHTAEES F T 2 - TAT FI JTAFIT T a3 Jrer 9o 3T
FATHETTE

1. I
0

|
2. H,C-C-CI,
3. CH:h
4. CHI;

Options :

1908896117. 1
1908896118. 2
1908896119. 3
1908896120. 4

Question Number : 56 Question Id : 1908891547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many moles of hydrogen (g) are obtained on hydrolysis of two moles of sodium acetate to
get ethanol?

1. One

2. Zero

3. Two

4. Three
Options:
1908896121. 1
1908896122. 2
1908896123. 3

1908896124. 4



Question Number : 56 Question Id : 1908891547 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WA gog & F fov afEgw 0t § o A9 F 99 vufed e W Faa
HIeT E1g31o (g) & Ted 8 &

1. TF
2. T
&

3. ar
4, o

Options:

1908896121. 1
1908896122. 2
1908896123.3

1908896124. 4

Question Number : 57 Question Id : 1908891548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For the given reaction:

CH4 CHs
Be?
2 = Moy 03
| | - A
HEC CH 773K, 10-20 atm
\\C/-' H\CH3
Hs

What 1s *A’?

o-Xylene
Benzene
Toluene
m-Xylene

bt

ool

Options :

1908896125. 1
1908896126. 2
1908896127.3

1908896128. 4

Question Number : 57 Question Id : 1908891548 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I | Moy O3

- A

'

[#¥]
%:

4. 111-3”33?!?{
Options :
1908896125. 1
1908896126. 2
1908896127.3

1908896128. 4

Question Number : 58 Question Id : 1908891549 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the heterolytic cleavage of the given reaction:

CHyCH,Cu ——— = AandB
‘A’ and ‘B’ are respectively:

"CH,CH;and Cu
*CH,CH; and "Cu
"CH,CHs and "Cu
"Cu and Cu

L bd

.o

Options :



1908896129. 1
1908896130. 2
1908896131. 3

1908896132. 4

Question Number : 58 Question Id : 1908891549 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a1 e JTAFA A RBuAsgudr [eesa 4

CHCH,Cu —— » AandB
A3 B'IAd § LA 3R B FE: §

1. "CH:CH; 3R ‘Cu
"CH.CH: 3R Cu
“CH,CH; 3T "Cu
4. *cu 3R Cu

| ]

LS

Options:

1908896129. 1
1908896130. 2
1908896131.3
1908896132. 4

Question Number : 59 Question Id : 1908891550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Select the correct option for the structure of 2-Bromo-4-methyl anisole:

[ ]
]
i
ca

,  OCHj

Options :

1908896133. 1
1908896134. 2
1908896135. 3

1908896136. 4

Question Number : 59 Question Id : 1908891550 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2-§1A - 4 - AR v B @A & v @ @eed 9o

OCH,
Br

| ]
£3
-
2

NH>

=

,  OCHs

Options :

1908896133. 1
1908896134. 2
1908896135. 3

1908896136. 4

Question Number : 60 Question Id : 1908891551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The common bases in DNA and RNA are:

Adenine. Guanine. Uracil
Cytosine, Thymine, Guanine
Cytosine. Thymine, Uracil
Adenine. Guanine, Cytosine

b et

B

Options :

1908896137. 1
1908896138. 2
1908896139. 3
1908896140. 4

Question Number : 60 Question Id : 1908891551 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&8F A & DNAUTE RNA AT # fAea &

(==

= LIF¥] | ]

Options :

1908896137. 1
1908896138. 2
1908896139. 3

1908896140. 4

Question Number : 61 Question Id : 1908891552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: A reaction of 2-bromo-2-methyl propane with sodium methoxide gives 2-
methylpropene.

Reason R: Alkoxides are nucleophiles,

In light of the above statements, choose the meost appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

b =

R

A 1s not correct but R 1s correct

Options :

1908896141. 1
1908896142. 2
1908896143. 3

1908896144. 4

Question Number : 61 Question Id : 1908891552 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A 2 U T v § - U F ATESUS (A) #T GE FOFWOT (R) FET AT £

HFFUF (A):2-TA - 2 - Ao & xfEfFEa oftan fueEE: ¥ 9 W 2-
Ao B &

FN (R) : VoAU AN TR A £
TIYFT FYA F e & it FFedt # ¥ ' 3o

[

(A) AR (R) AT T § AR (R). (&) Fr TE e

(4) ¥ (R) It W & W (R). (A) T TET e A
. (A)FE § Teg (R) WET

. (A)WEr TE § g (R) T

[

[ F¥]

N =

Options :

1908896141. 1
1908896142. 2
1908896143. 3

1908896144. 4

Question Number : 62 Question Id : 1908891553 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following compounds are aromatic alecohol?

{ )

A

CH>0H

@%b

C.
CH,OH
= i
CH>OH
E. l

Choose the correct answer from the options given below:

A C and E only
B. C and E only
D and E only

E only

it o

Options :

1908896145. 1
1908896146. 2
1908896147.3
1908896148. 4



Question Number : 62 Question Id : 1908891553 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Trrfar@a JifFr 7 & wta ar JdifFs tTARs el § 2

OH
A J‘i

CH>0OH
B. f

OH
o

CH,OH
D. Cl

CH>20OH
E.

e fow Ite f@ssedt 7 | HEr 3oax e

Faa A.Cc3HT E
Fad B.C HT E
Fada D IHT E
Fad E

[FS I

o

Options :
1908896145. 1
1908896146. 2



1908896147. 3
1908896148. 4

Question Number : 63 Question Id : 1908891554 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following compounds would undergo SNj reaction slower?

CH,CI

@

c
CH,

Oy

CH,CI

CH,CI

@

Options :

1908896149. 1
1908896150. 2
1908896151. 3

1908896152. 4

Question Number : 63 Question Id : 1908891554 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ataf@a 7 ¥ 7 ar dffe sy 3fafEar o of @ FEr 2

CH,CI

Cf I CH,

CH,CI

3. f
CH,CI
4. Q

Options :

| ]

1908896149. 1
1908896150. 2
1908896151. 3

1908896152. 4

Question Number : 64 Question Id : 1908891555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Synthests of alkyl fluoride cannot be accomplished n good yield by heating alkyl chloride in the
presence of:

Hab
CoF>
BF;
SbF;

[ L

Options:



1908896153. 1
1908896154. 2
1908896155. 3

1908896156. 4

Question Number : 64 Question Id : 1908891555 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ufedd FaREs # fradr 39ftafa # T8 F& =07 A & oo venEE A
TONUT Ag [T ST HAT E

Hgb
CoF>
BF;
SbF;

b

ol

Options :

1908896153. 1
1908896154. 2
1908896155. 3

1908896156. 4

Question Number : 65 Question Id : 1908891556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the incorrect statement:

1. Effect of particulate pollutants are largely dependent on particle size

Particulate pollutants having particle size of more than 5 micron are likely to lodge
nasal passage

3. Particulate pollutants are the minute solid particles or liquid droplets in air

4. Particulate matter bigger than 5 micron may enter into lungs casily

| ]

Options :
1908896157. 1

1908896158. 2



1908896159. 3
1908896160. 4

Question Number : 65 Question Id : 1908891556 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HET FU & AT

1. 0% YeUH 1 6T JEIAIT 3% FOT & FAHR RV &3 FT £
2. 5AEHE ¥ 92 FUF T ATGFCIR H FAT & AT &

3. FOMRT Tert a1g # Aefed qew 3 FOr T 39T 9 A

4. 5AEHE G 92 F0F TGS FUT FHS F A F GE7 T TR £

Options :

1908896157. 1
1908896158. 2
1908896159. 3
1908896160. 4

Question Number : 66 Question Id : 1908891557 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct structure of N.N-Dimethylbenzenamine 1s:

Y%

NH,
CH3
)

H3C
@—CHEN(CHg 2

[ ]

Options :

1908896161. 1
1908896162. 2
1908896163. 3

1908896164. 4

Question Number : 66 Question Id : 1908891557 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



N, N - SEAea=—=atH# T fr T8 G- &

[ -]
@)
I
(]
=
@)
0
Lad
rS

Options :

1908896161. 1
1908896162. 2
1908896163. 3

1908896164. 4

Question Number : 67 Question Id : 1908891558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The FALSE statement about primary amines 1s:

They react with alkaline CHCI; on heating to form carbylamines

They can be distingnished from tertiary amines on the basis of Hinsberg's test
They are incapable to form salts with acids

They can be prepared by reduction of nitrobenzene with metals n acidic medium

N S

Options :

1908896165. 1
1908896166. 2
1908896167. 3
1908896168. 4



Question Number : 67 Question Id : 1908891558 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UTHF UHE F T yEe FuA

. ¥ AT CHCL F T T8+ W FlaavAT 391 £

. fommat e F MR W g 3 e ¥ A B o asa
. ¥FT F WY &0 a9 § GRS 2 E

. 57¢ FFIT ATCAA A UG F WY A F AT ENT oA S
T

[a—

[ o]

g

o

Options :

1908896165. 1
1908896166. 2
1908896167. 3
1908896168. 4

Question Number : 68 Question Id : 1908891559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Compounds of W(VI) are found more stable than Cr(VI).

Statement IT: WO; is a stronger oxidizing agent than dichromate in acidic medium.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

= L b ek

Options:

1908896169. 1



1908896170. 2
1908896171. 3

1908896172. 4

Question Number : 68 Question Id : 1908891559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
de g FuT fgr Aw g

FUF - 1; W(VI)F TR, Cr(VI) F FARFH § F9eT 205 #d £

FUF - 11: FFAIT AIAA H GERATA TEHAC H oell § WO TF Taol HFHRS

gl
3 FUAT F HA A el et # ¥ FE 3o a

1. FU9 13K mae @ £
). FIF 13T D2Er 79 2|

3. F99 1WE £ g Fue 1 7erT £
4 FYF 1799 ¢ fFeq U7 LT &

Options:

1908896169. 1
1908896170. 2
1908896171.3
1908896172. 4

Question Number : 69 Question Id : 1908891560 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following compound which does not match with 1ts formula?

1. Phosphine — PH3

2. Phosgene — CoClp

Tear gas — CC13NO;

Mustard gas - CICH,CH,SCH,CH,Cl

i

Options :

1908896173. 1
1908896174. 2
1908896175. 3
1908896176. 4

Question Number : 69 Question Id : 1908891560 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=@ & ¥ Fi @7 3 39 g9 & gAfog 781 € 2

1. WIEH - PH;

2. WIESAA - CoCly

. Y " - CCLNO;

4. AECE I - CICH,CHLSCHICH,C

[¥¥]

Options :

1908896173. 1
1908896174. 2
1908896175. 3

1908896176. 4

Question Number : 70 Question Id : 1908891561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Indium of high purity can be obtained by -

Zone refining

van Arkel method
Mond’s process
Electrolytic refining

ol b

s

Options :

1908896177. 1
1908896178. 2
1908896179. 3

1908896180. 4

Question Number : 70 Question Id : 1908891561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3= ST T TEIH _ F AN Ut [FAT ST HhAT €

1. HS TSR0

A - HTHor T

3. HAE TFA

4. STFIFTUCAT TREHIOT

[ ]

Options :

1908896177. 1
1908896178. 2
1908896179. 3

1908896180. 4

Question Number : 71 Question Id : 1908891562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following elements have similar/ close electronegativity value at Pauling scale?
A S
B. Ge
C.Sn
D.Pb

B

Choose the correct answer from the options given below:

1. AandB only

2. A.BandC only
3. B,CandD only
4. Aand E only

Options :

1908896181. 1
1908896182. 2
1908896183. 3

1908896184. 4

Question Number : 71 Question Id : 1908891562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



difort YA W Aefofea # ¥ 7 7 71 arm/fase fege Fomersar A &

A St
B.Ge
C.Sn
D.Pb

E €

1 BT T Reet & ¥ W 3R

. $37 AHT B
2. g0 ABHR C
3. $g B.CHR D
4, FITAARE
Options :
1908896181. 1
1908896182. 2
1908896183. 3
1908896184. 4

Question Number : 72 Question Id : 1908891563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: The alkali metal halides are all high melting and coloured crystalline solids.
Statement IT: The alkali metal halides have high negative enthalpies of formation.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement II 15 correct

e Lad b



Options :

1908896185. 1
1908896186. 2
1908896187. 3
1908896188. 4

Question Number : 72 Question Id : 1908891563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT FT T av

FYF - 1: 8N UG & goss T 357 Toqisare 3T W Feeard o 2 8|
FUF - [1: 5T 1] % gomgst & AAor #F 359 HOTeAs oo 2 gl
FYF A F el H AeAfoed Fhedl # ¥ T 3ol I

I F47 3R nae & &
). FUF 13T 03T 79 £
3. %A 188§ g Fue e ¢
4. FUT 19907 ¢ e Fu7 1T €
Options:
1908896185. 1
1908896186. 2
1908896187. 3
1908896188. 4

Question Number : 73 Question Id : 1908891564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following hydrides are crystalline, non-volatile and non-conducting n solid state.

Tonic hydrides only

Covalent hydrides only

. Metallic hydrides only

Covalent and metallic hydrides both

o

:[_‘-.’.‘AJ

Options :

1908896189. 1
1908896190. 2
1908896191. 3
1908896192. 4

Question Number : 73 Question Id : 1908891564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3T TR ¥ GEie # ¥ S @1 gEgss Feedy, sl AT s g 0

. FI9 HIAF FEIES

). I TEHASF FEIES
. F3I9 UicaF FEEEs
TEHaIST AT uica® Z1EsEs

[e—

-

L%

e

Options:

19088961809. 1
1908896190. 2
1908896191. 3
1908896192. 4

Question Number : 74 Question Id : 1908891565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 1s labelled as Assertion A and the other 1< labelled as
Reason R

Assertion A: On bringing the two nuclei closer, 1t results i a sudden nerease m energy and
stabilization of the molecules

Reason R: The electron density between the nuclei increases because of orbital overlap

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correct

A is not correct but R 15 correct

e ki

o

Options :

1908896193. 1
1908896194. 2
1908896195. 3
1908896196. 4

Question Number : 74 Question Id : 1908891565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A & Fu QU v § : o F HfwAT () #T G A FROT (R) FET A g
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Options:

e = [



1908896193. 1
1908896194. 2
1908896195. 3

1908896196. 4

Question Number : 75 Question Id : 1908891566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The element X. Y and Z belong to group 13. 14 and 15, respectively. X. Y and Z are

X=Th, Y=Pb, Z=Bi
X=InY=5n 7Z=At

bl

3. X=Th,Y=5n.Z=5Sb
4. X=TLY=Pb.Z=Bi
Options :

1908896197. 1
1908896198. 2
1908896199. 3
1908896200. 4

Question Number : 75 Question Id : 1908891566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T XY ZTH 3. 43T 15T HERIT FI X YT 2 ¢ -

X=Th.Y=Pb.Z=B1
X=In Y =5n 7Z=At
X=Th.Y=Sn.Z=Sb
X=TLY=Pb.Z=5B1

L b

-

Options:
1908896197. 1
1908896198. 2

1908896199. 3



1908896200. 4

Question Number : 76 Question Id : 1908891567 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The given graph represents-

1s
2s

2p
3s

ke b

Options:

1908896201. 1
1908896202. 2
1908896203. 3

1908896204. 4

Question Number : 76 Question Id : 1908891567 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



r (nm)

| S

2s

2p

o
%]
w

Options :
1908896201. 1
1908896202.

1908896203.

A W N

1908896204.

Question Number : 77 Question Id : 1908891568 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct option for the preparation of Slaked lime.

CaCO; + H80; —— (caso, + HO +  CO
Ca0  * 8i0, — casio,

CaOH * CO, —— cacO, +  HO

Ca0  * HO ——— Ca(OH)



Options :

1908896205. 1
1908896206. 2
1908896207. 3
1908896208. 4

Question Number : 77 Question Id : 1908891568 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T I 39 F o0 T faew A g

CaCl3 * H80, — CaSO, + HO + C0
Ca0  + 80, — casio;
CaOhp * CO, — caco, + KO

G0 * HO  —— CcaloH),

Options :

1908896205. 1
1908896206. 2
1908896207. 3

1908896208. 4

Question Number : 78 Question Id : 1908891569 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Characteristic oxidation state of lanthanoids 1s +3 but cerium shows +4 oxidation
state too.

3t ' ' . '
Reason R: Ce™ after losing one more electron acquires stable 4f° electronic configuration.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A is not correct but R 1s correct

b

b, T

Options :

19088962009. 1
1908896210. 2
1908896211. 3
1908896212. 4

Question Number : 78 Question Id : 1908891569 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 Fud forT v §  w #r A (A) HT gEY AN (R) T I B

HIFFUT (A) : AUAIE F HFAOF HTFHIRIT FTEAT +3 3T ¢ ATt HINTH
+4 FFEFRIOT HaTa oft femrar 2

FNOT (R): Ce* TF Zol AT FT W 4F SoREIF [4=aTd 9o FT o g
3TUFT FUA F Helw # fAwiRg REed & ¥ W e I

—

. (A) 3T (R) & @ § 3T (R). (A) B 7R cuE

(A AR (R) G T € T (R). (A) FT TET T A B
- (A) BN € g (R) W A
A

A)TE! T E e (R) T €

Options :

iy L) [ ]



1908896209. 1
1908896210. 2
1908896211. 3

1908896212. 4

Question Number : 79 Question Id : 1908891570 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement from the following-

1. Beryllum sulphate 1s readily soluble in water as the greater hydration enthalpy of
Be®™ overcomes the lattice enthalpy factor

Copper matte contains CuyS and Zn$S

All the three N-O bond lengths 1n HNO; are equal

XeOF; 15 splcls-dismrted octahedral molecule

[ ]

N ]

Options :

1908896213. 1
1908896214. 2
1908896215. 3

1908896216. 4

Question Number : 79 Question Id : 1908891570 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfefea & & 78 9 31 94 -
1. afiferas wethe O 7 AT ¥ geeelie § F2IF B A Fordee reed
T S o § e 2 £
2. F9T AT H CuS 3R ZnSEﬂFIT?I

L]

. HNO; & T3t N- 0 19y 741 TAF £l
. XeOF, sp'd’ 4 Fewesig 77 £

o

Options :



1908896213. 1
1908896214. 2
1908896215. 3

1908896216. 4

Question Number : 80 Question Id : 1908891571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: CCly 15 msoluble in water while S1Cls 15 soluble m water.

Reason R: Si1n SiCly can accommodate the lone pair of electrons in d-orbitals obtained from
oxygen atom of water molecules.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 15 the correct explanation of A
Both A and R are correct but R i1s NOT the correct explanation of A
A is correct but R 15 not correct

A 15 not correct but R is correct

| R

e o

Options :

1908896217. 1
1908896218. 2
1908896219. 3

1908896220. 4

Question Number : 80 Question Id : 1908891571 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 3t FU T a0 § @ vF F AEFYT (4) AR TH FT FWT (R) FT T £

HHFUF (4): CCL T HeeeAeliel & SFafeh SiClL, Toraaeltet £

FNOT (R): SICLH Si d-FETH & Tl F HFHTA WAV F THF J7A Folaeral
TET HE E

IYF FYA F HAF # AR e # ¥ T 3R I

[e—

A) R (R) T T & AR (R). (A) P TE EATE
)

(
(4) T (R) 2 W & T (R). (A) FF HE e 7@ 2
(
(

|

L]

A)TE § Weg (R) T TG 8
A) T TG § Weq (R)FET

Options :

o

1908896217. 1
1908896218. 2
1908896219. 3

1908896220. 4

Question Number : 81 Question Id : 1908891572 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the optically active compound from the following

cis-[PtCly(en),]*
trans-[CrCly(ox),]*
[Cr(NH3)sCl]
trans-[Co(en),Cl,]*

A N

Options :

1908896221. 1
1908896222. 2
1908896223. 3

1908896224. 4



Question Number : 81 Question Id : 1908891572 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fr=tafEa it # 7 yaur aferg 3T Fr 929

1. cis-[PtCly(en)]*"

2. ﬁ'ans-[C1'Clg[0?’1]'l]3_

3. [Cr(NHj)sCl]

4. trans-[Co(en)Cla]”
Options:

1908896221. 1
1908896222. 2
1908896223. 3

1908896224. 4

Question Number : 82 Question Id : 1908891573 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Displacement redox reactions fit info metal displacement and non-metal
displacement

Statement II: The non-metal displacement redox reactions include hydrogen displacement but
rarely oxyeen displacement

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s meorrect but Statement II 1s correct

|

ek

Options :

1908896225. 1



1908896226. 2
1908896227. 3

1908896228. 4

Question Number : 82 Question Id : 1908891573 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT T Fua R AT §

Fud - 1. rara Eiew JfEfea ag @r s Reas & e sfe 8

FU - 11 3urq farureet WEiaw afafranst # gegem fSrame g o
e fareamea aga & el 2

39T FUA F HAw § Arafoad Fden # ¥ T8 3o 94

1. FIT 13T N2 T £
2. FUF 1A 2= o &
3. FYF 1HE ¢ e FU9 070 €1
4. FYF 17799 §. Feq Fua LT €1

Options:

1908896225. 1
1908896226. 2
1908896227. 3
1908896228. 4

Question Number : 83 Question Id : 1908891574 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?
A. Beryllium oxide 1s purely acidic in nature
B. Hydrides of group 14 are electron precise
C. PbO7 15 stronger oxidizing agent than SnO
D. Fullerenes have dangling bonds

Choose the correct answer from the options given below:

1. A andB only

2. BandC only

3. AandD only

4. A and C only
Options :

1908896229. 1
1908896230. 2
1908896231. 3

1908896232. 4

Question Number : 83 Question Id : 1908891574 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ToTeT § ¥ FiF O Fua Ter 27
A INTETA HFEES o F9 W FEAT TFHid F &

B.F3 14 % gIEI153 ToFelal qUT &l &

C. PbO, SnO F TaeT HTFHIFITH £

D. Golilel H [T I g &l
A for T oeeat F ¥ wEr 3o g4

. FFd AFR B
. FFa BAHAT C
3. FFA AHR D
4. FFT AHT C

[

[ ]

Options :

1908896229. 1
1908896230. 2
1908896231. 3

1908896232. 4

Question Number : 84 Question Id : 1908891575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is not the source of radioactive elements?

Pitchblende
Monazite
Baryte
Cleveite

ol bl

o

Options :
1908896233. 1

1908896234. 2



1908896235. 3
1908896236. 4

Question Number : 84 Question Id : 1908891575 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ICEr IR B B G s D U E T B R I | G RG EL-

1. s

2. HAATAES

3. @

4. Foldsc
Options :

1908896233. 1
1908896234. 2
1908896235. 3
1908896236. 4

Question Number : 85 Question Id : 1908891576 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Assuming the cthanol vapour to be a perfect gas. calculate the mternal energy change when

1 mol of ethanol at 78° C and 1 bar pressure is converted to solid at ~114°C. Given the enthalpy

of fusion of ethanol (solid) is 4.9 kJ mol™. specific heat capacity of ethanol 15 2.46 Jg_lc’('_l

30 k7 mol”

~30.0 kJ mol™
3, +26.6 kI mol®
4. ~26.6 kT mol®

b =

Options:
1908896237. 1
1908896238. 2

1908896239. 3



1908896240. 4

Question Number : 85 Question Id : 1908891576 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

VIHTE 19 1 311 18 HHEH ST Fell THadd il 01 iU, 96 1 Hid U 78°C am
9 1 bar 38 W, —114°C T W VAT 319 § giEida il 21 ot (3r) 4 Tem e
4.9 k7 mol™ 37 faftre wwmeian 246 T oc A 2

30 kJ mol™

~30.0 kJ mol®
3. +26.6 kJ mol®
4, ~26.6 kT mol®

|

Options:

1908896237. 1
1908896238. 2
1908896239. 3

1908896240. 4

Question Number : 86 Question Id : 1908891577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the enthalpy of vaporization of CCly is 15.4 kT mol™, then the heat required for the
vaporization of 30g of CCly at constant pressure 1s:
(Given: Molar mass of CCly = 154 g mol™)

154 kJ
3.0kI
462 kJ
13K

b =

ol

Options :
1908896241. 1
1908896242. 2

1908896243. 3



1908896244. 4

Question Number : 86 Question Id : 1908891577 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 CCLy Fr FodOT TR 154 kol &, A R &1 W 30 g CCL T aTseiigd
T F 0T JETE FAE

(feam T & : CCL T AR FTA = 154 g mol?)

154k]
3.0k]
462 kI
513kl

e b

st

Options :

1908896241. 1
1908896242. 2
1908896243. 3

1908896244. 4

Question Number : 87 Question Id : 1908891578 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The quantitative aspects of electrolysis was described by:

1. Galvani
2. Faraday
3. Nemst
Volta

oy

Options:
1908896245. 1
1908896246. 2

1908896247. 3



1908896248. 4

Question Number : 87 Question Id : 1908891578 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

JEYAHTLSA % ATICHF T8I T J0IT _ F R ohar amm |

1. ==
e

AT
4. drear

[ ]

L]

Options:

1908896245. 1
1908896246. 2
1908896247.3

1908896248. 4

Question Number : 88 Question Id : 1908891579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Inversion of cane sugar is example of

Zero order

First order
Second order
Pseudo first order

bt =

et

Options :

1908896249. 1
1908896250. 2
1908896251. 3
1908896252. 4



Question Number : 88 Question Id : 1908891579 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F&] - U FT WIAHT _ FT G807 &

1. =7 Hife Fr HfFferar
A FITe FT HATATRAT

3. giadarT Sife $Fr FtAfEar
4. TF TAF FIfe Fr FTafteEar

Options :

| ]

1908896249. 1
1908896250. 2
1908896251. 3

1908896252. 4

Question Number : 89 Question Id : 1908891580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Adsorption and absorption cannot take place simultaneously.
Reason R: The term sorption 15 used for to describe adsorption as well as absorption.
In light of the above statements. choose the most appropriate answer from the options given

below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A is not correct but R 1s correct

e L B =

Options :

1908896253. 1



1908896254. 2
1908896255. 3

1908896256. 4

Question Number : 89 Question Id : 1908891580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR 2 FUA foU AT E U T HEFUS (A) FT TH FOFWOT (R) FET AT £
HEFUF (A) : HTINUT TF HIINTOT FY - WY T2 & T £

FIOT (R) : AT TF SN0 F THSE F T o907 ez F T@er R
gl

ITFT FUA F HelF # (Awind et # ¥ W e I

. (A) ¥ (R)IE TETE HT R mﬁu?rm?l
- (4) 3R (R) G T € T (R). (A) Fr wEr e 7@ 2
(AT E T R Pﬁﬂﬁ?i
. (A) TET T & Teq (R) R 3

Options :

-l'—‘- "-}-! I..I —

1908896253. 1
1908896254. 2
1908896255. 3
1908896256. 4

Question Number : 90 Question Id : 1908891581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s correct graph for Arrhenius equation?

In A
. Ink
i -E,R
Temperature
In A
Ink
7.5 EJR
Temperature
In A
Ink
=8
1/ Temperature
In A
\\
\\\\-
Ink .
E./R
4. e
B
\\.
\\\
N
1/ Temperature
Options :

1908896257. 1
1908896258. 2
1908896259. 3
1908896260. 4



Question Number : 90 Question Id : 1908891581 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FfETE FHEET F ov Aeafoi@a & ¥ Fi9 97 30T Tl g 2

In k \

Temperature

In A

Ink

[ B

E./R

A

Temperature

Ink

Ink b

1/ Temperature

Options :
1908896257. 1
1908896258. 2



1908896259. 3
1908896260. 4

Question Number : 91 Question Id : 1908891582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds does not form hydrogen bonding?

HF
NH;
HCl
HI

b =

e L

Options :

1908896261. 1
1908896262. 2
1908896263. 3

1908896264. 4

Question Number : 91 Question Id : 1908891582 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

F=faieT diftrst & ¥ FiF grEsisa Je=y A7 a9 ¢ 2

HF
NH;
HCl
HI

b =

b

Options:

1908896261. 1
1908896262. 2
1908896263. 3
1908896264. 4



Question Number : 92 Question Id : 1908891583 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

N> gas with a known amount occupies a volume of 15mL at certain temperature and pressure. If
the temperature is doubled and the pressure is reduced to 1/6® as well as the amount of N get
halved. then the volume of N; 1s:

1. 10mL
2, 22.5ml
3. 90 mL
4. 360 mL

e

Options :

1908896265. 1
1908896266. 2
1908896267. 3
1908896268. 4

Question Number : 92 Question Id : 1908891583 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafea a7 #R gF TN IF i AT AT 15wl FTGT 9w €1 3 aw @
.89 F 1/6TF FH AN, 7 FF 317 T G 2. AN 39 F e
FIRCIP Ll

1. 10mL
22.5mL
90 mL
360 mL

|

I = ]

Options :

1908896265. 1
1908896266. 2
1908896267. 3
1908896268. 4



Question Number : 93 Question Id : 1908891584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[t radmus of umit cell 15 taken unity. then the correct order of packing efficiency for fec. bee and
simple cubic lattice is

fce > bee > simple cubic
bee > fee > simple cubic
simple cubic > fee > bee
bee > simple cubie > fec

e Laa D

Options :

1908896269. 1
1908896270. 2
1908896271. 3

1908896272. 4

Question Number : 93 Question Id : 1908891584 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I v e & =3 #7535 o J7 7 fec., bee HT T 06T o005 F
70 HepoleT ETACISA F1 Wl FA ¢

1. fee > bee > TS AT Ao
2. bee > fee > W TlIT STAF
3. WY TAT ST > fee > bee
4. bee > (A TAND e > fee

Options :

1908896269. 1
1908896270. 2
1908896271. 3

1908896272. 4

Question Number : 94 Question Id : 1908891585 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The value of equilibrium constant 1s dependent of initial concentration of reactants
and products.

Statement II: The equilibrium constant for the forward reaction 15 equal to the equilibrium
constant for the backward reaction.

In Light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

= L D

Options :

1908896273. 1
1908896274. 2
1908896275. 3

1908896276. 4

Question Number : 94 Question Id : 1908891585 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT A FUF RT AT

FUF - 1 GFIFEYT TUUF F1 A HfAFRE 37 3 WiEF gEa w
ey s 2

FUF - 11 FETAT FIATFA FT AT R0+ T9TRmAT ¥R § aegEe
BT F Ty 29 £

IYFT FUA F AT F ArAroned fGwed & ¥ T 3

1. FU7 13T 13- T8 &
2. FUF 1HT 0= 19T £

3. FUF 1T £ g FuF 179 2
4, FUF 1799 & g FoF 1w £

Options :

1908896273. 1
1908896274. 2
1908896275. 3

1908896276. 4

Question Number : 95 Question Id : 1908891586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Enzymes are termed as biochemical catalysts.

Statement IT: The process of converting a precipitate into colloidal sol by shaking with
dispersion medium in the presence of a small amount of electrolyte is called precipitation.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 15 incorrect
Statement I 15 incorrect but Statement II 1s correct

d b

oy

Options :

1908896277. 1
1908896278. 2
1908896279. 3
1908896280. 4

Question Number : 95 Question Id : 1908891586 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT A FAF v aw ¥
FUT - 1: Tealleh F A83F 39 F24 £

FUF - 11: 8T 3989 F degasuey 1 9 & A i sufeafa & ofewor
eIw F Wy e Feed we § ofefas F 9T E FEET FEe

YT FUA F WA 7 AEfoas Fwew & ¥ W 3w 9

1. FuF 13 na=r g5 &l
2. HYA 1A N T £
3. FY 19 ¢ e F9a 170 2
4 FYF 170 ¢ Foeg FUT IFE 8



Options :

1908896277. 1
1908896278. 2
1908896279. 3
1908896280. 4

Question Number : 96 Question Id : 1908891587 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let N be the number of close packed spheres that formed during three dimensional close packing
from two dimensional hexagonal close packed layers. The number of tetrahedral and octahedral
voids are, respectively:

N and 2N
Nand N
Nand N
2N and 2N

b —

o Bhdr

Options :

1908896281. 1
1908896282. 2
1908896283. 3

1908896284. 4

Question Number : 96 Question Id : 1908891587 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



y fafes wfom oet & gewr N HfF gRfew - weanhy @R wghe w@
¥ ffew ffes wFow F g a7 81 & Tgvwend AN srewe RfEFTar
TEq A AT e

I. N3 2N
2. INHRN
3NN

4. INHT N

Options :

1908896281. 1
1908896282. 2
1908896283. 3

1908896284. 4

Question Number : 97 Question Id : 1908891588 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a colligative property?

Osmotic pressure

b

Elevation of boiling point
Depression in freezing point
WVapor pressure

B

Options :

1908896285. 1
1908896286. 2
1908896287. 3

1908896288. 4

Question Number : 97 Question Id : 1908891588 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



forafa@d & ¥ Fi9 e uad 78 ¥ -

1. 9ITHIUT ¢

2. FFUATHF FT 3704
3. BHEE F ¥ETHA
4. 9dr=9 gId

Options :

1908896285. 1
1908896286. 2
1908896287. 3

1908896288. 4

Question Number : 98 Question Id : 1908891589 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On dissolving urea in 500g of water and cooled up to 272.65 K, the 128g of ice separates out
from the solution. What amount of urea is dissolved? (K#=1.86 K kg/mol)

0.06g
0.6g

6.0g
60g

e e b =

Options:

1908896289. 1
1908896290. 2
1908896291. 3
1908896292. 4

Question Number : 98 Question Id : 1908891589 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T & 500 ¢ Telt F GO 27265 K AT T 381 el T 128 ¢ % (ol § 3o
g ST %’IW $r e A 'EI__.'rff £ 7 (K<1.86 K kg/mol)

o =
=
(=,
[ =]

:I_h.[._.w
=
= &
e

Options :

1908896289. 1
1908896290. 2
1908896291. 3

1908896292. 4

Question Number : 99 Question Id : 1908891590 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: The solubilities of two sparingly soluble salts, Ni(OH), and AgCN with K of 4 x
8 10 ;.
107and 1 x 107" mol/L respectively.

Reason R: AgCN 1s less soluble than Ni(OH),.

In light of the above statements, choose the most appropriate answer from the options given
below

. Both A and R are correct and R 1s the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
3. Ans correct but R 1s not correct

4. Ais not correct but R is correct

1
2

Options :

1908896293. 1
1908896294. 2
1908896295. 3
1908896296. 4



Question Number : 99 Question Id : 1908891590 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 31 FuF U a0 § - vF S AfFFAT (A) 3T TE FOFRT (R) FET A

HIAFAT (A): I HoUeIT AU Ni(OH), AT ACN T A (Kyp)
FAM 4x 108 3T 1 210" molL 71

FRUT (R) : Ni(OH), HT 98T AgCN FH Foreellel &

3T FUA F Ao A feAiehd ahodt # ¥ T 3ol I

p—

(A) 3R (R)S WET & AT (R). (A) FT T =T0EAT ¢
(A) T (R) 34T WET § T (R). (A) T T =area 7
(A) Tl & =] (R) WET T 2

(A) T Tt € T (R) W 2

Options:

|

L5

o

1908896293. 1
1908896294. 2
1908896295. 3
1908896296. 4

Question Number : 100 Question Id : 1908891591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Glass 15 an extremely viscous liquid.
Statement II: Viscosity of liquid decreases as the temperature rises.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are mcorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

| R R =

e

Options :

1908896297. 1
1908896298. 2
1908896299. 3
1908896300. 4

Question Number : 100 Question Id : 1908891591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 2 Fua Gr v &

FUAT - 1. FF TF Jg =of=mr 27 8

FUA - II: A9 9 W g9 I AAAT FT 0T FA &l 2

STFT FAAT F S 7 Feaerad Feedt # § TE 3o 9

1. Fu 13T I3 T8 £
2. FUF 1T LT 7199 &
3. U 18 8. g Fua n e 21
4. FUA 17700 8. Fheq FUF N HEE

Options:

1908896297. 1



1908896298. 2
1908896299. 3

1908896300. 4

Part C Mathematics

SectionId: 19088944
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088970
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1908891592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A Set A has 4 elements and another Set B has 8 elements. Then

1. 4<n(AUB)<8
2. 4<n(AUB)<12
3. 8<n(AUB)<12
4, 0<n(AUB)<12
Options :
1908896301. 1

1908896302. 2



1908896303. 3
1908896304. 4

Question Number : 101 Question Id : 1908891592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
! TH==T A # 4 3909 € U7 UF =0 §HA==T BH 8 3949 g o

4<n(AUB) <8
4<n(AUB) < 12
§ <n(AUB) <12
0 <n(AUB) < 12

B e R

Options:

1908896301. 1
1908896302. 2
1908896303. 3
1908896304. 4

Question Number : 102 Question Id : 1908891593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The function f(x) = log[x + /(x> + 1)] ¢

Neither an even nor an odd fuction
An even function

An odd function

A periodic function

[

B

Options:

1908896305. 1
1908896306. 2
1908896307. 3
1908896308. 4



Question Number : 102 Question Id : 1908891593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FoleT f(x) = log[x + /(x> + 1)]

1. & df T §H Bod g AT a1 &7 v Fva v g1

U TH Fold gl

-2

3. TF B9E v g
4. TF HEd T gl
Options :

1908896305. 1
1908896306. 2
1908896307. 3

1908896308. 4

Question Number : 103 Question Id : 1908891594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A function f from the set of natural numbers to mtegers defined by

n—1 :
5 : whenn is odd
fn) =4 [
—= ; whenniseven
2 is
1. Neither one-one nor onto
2. One-one but not onto
3. Onto but not one-one
4. One-one and onto both
Options :

1908896309. 1

1908896310. 2



1908896311. 3
1908896312. 4

Question Number : 103 Question Id : 1908891594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FIS Fold { Ipd TEAHT F TH=IT ¥ IHI TH

n—1

: when n is odd

f(n) = A

— E : whenn iseven

CaRT IRHNNT g1 T Helel

AT ar THEr & 3T A1 & A=oEs T
. UHHT . TWed HT=BGH el 2l
HT=BTeH &, e T 72T 2|

. TFFr 3 3=oRs 3E g

—

[ ]

A 5

Options :

19088963009. 1
1908896310. 2
1908896311. 3

1908896312. 4

Question Number : 104 Question Id : 1908891595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



f(x) = sin(x+ EJ +cos(x +E

T
| o 0,-} B |
The maximum value of 6 6) lies in the interval [ 20 if the value of x 15

[ ]

L)

lawlag acla

4—

Options :

1908896313. 1
1908896314. 2
1908896315. 3

1908896316. 4

Question Number : 104 Question Id : 1908891595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m

f(x) = sin (x+g)+ms{_x +2) 3 FUFaA A F 05| fewm 3.9 x 71 oW
g

[

law A |ae s

S ]

Options :

1908896313. 1
1908896314. 2
1908896315. 3

1908896316. 4

Question Number : 105 Question Id : 1908891596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



: . . COSX. cas(f+x).ms(5—x):f-1e [0,3n] .
The sum of all the solutions of the equation 3 3 " oA i

20

a3

4

10w
197

3

Y L O

Options :

1908896317. 1
1908896318. 2
1908896319. 3

1908896320. 4

Question Number : 105 Question Id : 1908891596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mcosx. ras{g+x').505(§ —-‘f) =§ ;x € [0,3n] + Tt E,?uﬁ' FT TIT E' :

20w
3
4

10m
1o

[

L)

o
[

Options :

1908896317. 1
1908896318. 2
1908896319. 3
1908896320. 4

Question Number : 106 Question Id : 1908891597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2x
= 5

For X = 1, the value of f(x) = 2tan™!x+sin™! 1+x?

4tan1x

-

[ ]
3

B
(]
=1

Options :

1908896321. 1
1908896322. 2
1908896323. 3

1908896324. 4

Question Number : 106 Question Id : 1908891597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.

e S -1 i Wil
331¢ﬁ-¢. fix) =tan"' x + sin = T-FI'FIFI'%':

4tan"1x

|

S RGIE]
:1

o

Options :

1908896321. 1
1908896322. 2
1908896323. 3
1908896324. 4

Question Number : 107 Question Id : 1908891598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For what value of A. the equations 7x - 5y +3=0.2x +3y=8 and 4x - 6y + AL=10 are
consistent?

4

8

-4

No such value of A exists

I

Options :

1908896325. 1
1908896326. 2
1908896327. 3

1908896328. 4

Question Number : 107 Question Id : 1908891598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1% 5 7 & T el x-Sy +3=0. 25+ 3y=8 HNdx - 6y + L =0T § *

1 4

2.8

3. 4

4. 1% 0 5l A 7 wfEaes A R

Options :

1908896325. 1
1908896326. 2
1908896327. 3
1908896328. 4

Question Number : 108 Question Id : 1908891599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e 5

1 1 + sinx sinx
IfA(x) = | cosx cosX sinx A(x). dx
1—cosx l+sinxk—cosx 1 | thenod 1s equal to

1
1. —
4
3. &
2
3. @

1

B gt

4
Options :

1908896329. 1
1908896330. 2
1908896331. 3

1908896332. 4

Question Number : 108 Question Id : 1908891599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1+ sinx sinx .
A(x) = | cosx COSX sinx T S
- _ = )¢ Alx).dx
e l-cosx l1+sinx—cosx 1 1gar TN &

[ Ry —
!

L

-1/4

Options :

1908896329. 1
1908896330. 2
1908896331. 3

1908896332. 4

Question Number : 109 Question Id : 1908891600 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A function £ : R—R satisfies the equation f(x +y) = (x). f(y) for all x.y € R: f(x) # 0. Suppose

that the function f(x) is differentiable at x=0and f(0)=2.If f' ( ) = . f{x), then the value
of 415

P[}Mlb—-lw_-ll—l

Any real number

Options :

1908896333. 1
1908896334. 2
1908896335. 3

1908896336. 4

Question Number : 109 Question Id : 1908891600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T% Fod fR—R B xy e R: fx) 20 F T THARGT f(x + y) = f(x). f(y) FT FT€ Fal

gl AT ST & x =0T IF Fold f(x) FTFaa1g ?Er!le*Lm= 2 g1 I #(x) =1.
() ALFATE :

|
b =

1/2
Fi5 off aTTaies T

Options :

1908896333. 1
1908896334. 2
1908896335. 3

1908896336. 4



Question Number : 110 Question Id : 1908891601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. dy
Ify = |cosx — sin x|, then d—:'at}: == is
. 4

=

1 —".'E
2. 42

3.0

4. Not defined
Options :
1908896337. 1
1908896338. 2
1908896339. 3

1908896340. 4

Question Number : 110 Question Id : 1908891601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x 4ay
Ife y = |cosx — sinx| E‘.HT:-{:fEITEaTHT 5

W72

)

b =

0
. aiefiE #

o e

Options :

1908896337. 1
1908896338. 2
1908896339. 3

1908896340. 4

Question Number : 111 Question Id : 1908891602 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy
If y= {l+:-;}(l+xj]l;'1+:-;4]. ..{1+}:2u]. then the value of dx at x=0 is
1. 0
2. -1
G W |
A 2
Options:

1908896341. 1
1908896342. 2
1908896343. 3
1908896344. 4

Question Number : 111 Question Id : 1908891602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
dy
IE vy = (1+x)(1+xD)(1+xY.c (1™ & a x=0 WA FT A :

e L b =
| R

Options :

1908896341. 1
1908896342. 2
1908896343. 3

1908896344. 4

Question Number : 112 Question Id : 1908891603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The normal to the curve 55 - 10x° +x + 2y + 6 =0at A (0. -3) meets the curve again at two
points B and C. The length of BC 1s

1 ‘."g
2. 25
B 35
5
. ¥
.
Options :

1908896345. 1
1908896346. 2
1908896347. 3

1908896348. 4

Question Number : 112 Question Id : 1908891603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 5x - 108 +x+ 25+ 6=0FTAQ,-3) W HBo 3% ¥ G & fagal BAR ¢
THrerar €1 99 BC TN §

e
-y

e
- ]
[

Options :

1908896345. 1
1908896346. 2
1908896347. 3

1908896348. 4

Question Number : 113 Question Id : 1908891604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



i : : ; X R ;
The minimum area of the triangle formed by any tangent to the ellipse —+ % = 1 with the
E y any tang 2

coordinate axes 15

1. a+b sq.units
5 (atb -

% T ) 5. Units
(a—b)?

5(. units

=

ab sq. units

Options :

1908896349. 1
1908896350. 2
1908896351. 3
1908896352. 4

Question Number : 113 Question Id : 1908891604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fige S+ L =1 # o o Y@ gEw e et % Wy aw g A
~IAH &I §

L (aM+b}) 30 ZH7E
 (atb)?
1= T TR

3. (a-b)? Elff Eq;ré-

2

4, abﬂﬁﬁ?

Options :

1908896349. 1
1908896350. 2
1908896351. 3
1908896352. 4

Question Number : 114 Question Id : 1908891605 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x2

dx
If J A.ln

x—x3

: x:\ + C. then the value of 4 1s given by

1.

Z.

s | 2 £ [ I
% | ke

Options :

1908896353. 1
1908896354. 2
1908896355. 3

1908896356. 4

Question Number : 114 Question Id : 1908891605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y

dx

X=X

Aln |
- I

uﬁfj +C .3 AF A AFafefas gen e s §

L)

s | = = S R
" B

Options :

1908896353. 1
1908896354. 2
1908896355. 3



1908896356. 4

Question Number : 115 Question Id : 1908891606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) = x-[x]. for every real number x. where [x] 1s the greatest mteger less than or equal to .

Then the value of | _llf(l) dx is
L
2.
3
4,

— ] e, =

Options :

1908896357. 1
1908896358. 2
1908896359. 3

1908896360. 4

Question Number : 115 Question Id : 1908891606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T 9= IEATEF W' < F A0 f(x) = x-[x] & F@T [x]. x ¥ BT A xF TR
AgeaH T & [ f(x).dxF AW §

b =

il S U =

Options :

1908896357. 1
1908896358. 2
1908896359. 3



1908896360. 4

Question Number : 116 Question Id : 1908891607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The curve f(x) = sin x and g(x) = cos x intersects infinitely many times giving the bounded
regions of equal areas. The area of one such region 15

1. VZsq. units

3 2"-"Izsq. units

3. T sq. umts

4. 27 sq. units
Options:
1908896361. 1
1908896362. 2
1908896363. 3

1908896364. 4

Question Number : 116 Question Id : 1908891607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T f(x) = sin x AR g(x) = cos x TR FINHT T §F Fis aN Fia=oe, Har 8. (0w
T ETell ATl IR &7 0 31T &1 00 & 0F &7 F7 694 ¢

1. 239 %1
2L =
T3 THE

2 THFE

Options :

[ ]

1908896361. 1
1908896362. 2
1908896363. 3



1908896364. 4

Question Number : 117 Question Id : 1908891608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The differential equations of all conics whose axes comneide with the coordinate axes 1s

d l-l- _(d}') " dy
Yar T *\dx Yae™
LA (d}‘)--i- .
. YT Xl X— =
" dx* dx dx
d2y dy\~ dy
3 %y }+x(—') _y2 =
= dx” ¥ * dx
X d-y d}')‘+ dy 0
AR T ) T e
Options :

1908896365. 1
1908896366. 2
1908896367. 3

1908896368. 4

Question Number : 117 Question Id : 1908891608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

39 T oTRaT T HIHA FHRIOL, TS 7T HEAF HeT F T FUET 2,
AT &

. ayds & 1):+ D _o
Y iy . dx/ }ﬂ'.t_
d2y  ydy\~ dy
2. gy () #xL=

*) dx* T( x) +tdx 0

g 'ff:_‘l’+ _(d}')‘ _d}-‘_n
£ dx* % dx }rix
d2y dw’  dy

4. xy—-— (—) +y—=0
" dx< . X }d.t



Options :

1908896365. 1
1908896366. 2
1908896367. 3
1908896368. 4

Question Number : 118 Question Id : 1908891609 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dy y f{;_()

The solution of the differential equation d— ==+
X

* r(2)

(where C 1s an arbitrary constant)

1. =f(2)=c

[ o]
""h.
o
e
Il
3
'-1

Options :

19088963609. 1
1908896370. 2
1908896371. 3

1908896372. 4

Question Number : 118 Question Id : 1908891609 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ay y f(3)
HIGel FHIROT =7 FEd & -
r()

[
.

Jr-' e 5
.x.f(;) = C gl C T F=6 FAW 2

[

'}1 L 5
; f(;)=£'-t Agl CUsh FH=0 H=T %‘I

T

- 9.7 (5) = 7@ c vF o IR 2

I‘-’I| Lo LY
: f(;)=f3_r el C UF TE=0 H=91 gl

o

Options :

1908896369. 1
1908896370. 2
1908896371. 3

1908896372. 4

Question Number : 119 Question Id : 1908891610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For all real x. the vectors @ = X1 =6] + 3k gnd b = X1 +2j + 2exk pakes an obtuse angle with
each other. Then. the value of ¢ must satisfy which one of the following conditions?

1. 0<e<4/3
2. 43<e<0
c>-4/3
¢>4/3

N )

Options:

1908896373. 1
1908896374. 2
1908896375. 3

1908896376. 4

Question Number : 119 Question Id : 1908891610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

oot aeafas <& ﬁn_;qﬁarﬂ=fxi—6}+3i;'3.ﬁqg=xi'+2j+2f::rﬂ:'w{m"g'w
HF FT T g1 79, et # ¥ 5w gfady #F o F A @ o e

s

©y

W
I

Options :

1908896373. 1
1908896374. 2
1908896375. 3

1908896376. 4

Question Number : 120 Question Id : 1908891611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The ratio 1n which the line segment joining the points A(4, 8. 10) and B(6. 10, -8) 1s divided by
the yz-plane 1s given by

. 2:3 mternally
2:3 extemnally

-

1:2 internally

-

1:2 externally

v

b —

S )

Options:

1908896377. 1
1908896378. 2
1908896379. 3

1908896380. 4



Question Number : 120 Question Id : 1908891611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fagat A4 5.10) 3T B(6. 10.-8) Ft B IT¥ YWES F yz- THAW O Hed H
franfog Ftar ¢ 38 PeafRfEa ¢

1. 2:3 AR+ 3§
2. 23 9
3. 12 HENE W @
4, 1.2 9ET:

Options :

1908896377. 1
1908896378. 2
1908896379. 3

1908896380. 4

Question Number : 121 Question Id : 1908891612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

, x—4 y—7 z+3 | 7 ey
The line S = T T 5 nfersects the curve xy=¢". z=0. if ¢ 15 equal to

+]

+7

i b =

Options :

1908896381. 1
1908896382. 2
1908896383. 3

1908896384. 4



Question Number : 121 Question Id : 1908891612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

PEG| | i S L Z-I; Elﬁ?xy=c2.z=[fl$]";lﬁt-_tﬁ mﬁ’r?uﬁ CW%’:

-2 1
| A
2 =)
3. =4
4. +\2
Options :

1908896381. 1
1908896382. 2
1908896383. 3
1908896384. 4

Question Number : 122 Question Id : 1908891613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If from the point P(a.b.c) perpendiculars PA and PB are drawn to yz and zx planes, then the
equation of the plane OAB is

. bex +eay +abz=0

. bex +cay-abz=0

. bex -cay+abz=0

. =bex +cay+abz=0

| R

S )

Options :

1908896385. 1
1908896386. 2
1908896387. 3

1908896388. 4

Question Number : 122 Question Id : 1908891613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

g 4G P(ab.c) & FATN yz HT zx T FAL: &7 PA AR PBUR 1 & A FAA
OAB #T TH#I0T ¢ -

. bex +cay+abz=0
. bex +cay-abz=0
. bex - cay +abz=0
. =bex+cay tabz=0

a2 —

[ X

Options :

1908896385. 1
1908896386. 2
1908896387. 3

1908896388. 4

Question Number : 123 Question Id : 1908891614 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are two boxes. Box A and Box B. Box A contains 3 red and 6 black balls. Box B contains
5 red and n black balls. One of the two boxes 15 selected at random and a ball 1s drawn at
random. The ball drawn 15 found to be red. If the probability that this red ball comes out from

X
BoxB1s 3 then the value of n is
10
12
20
25

de b 2 —

Options :

1908896389. 1
1908896390. 2
1908896391. 3

1908896392. 4

Question Number : 123 Question Id : 1908891614 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aTa‘hﬁAﬁNBﬁvgwlﬁwmsmmémﬂ'&wai’waﬁ_imam
¥ UF 3 F TE=os o9 § WHen Jar g1 Wl 78 7 A 9 F6r g1 3%

ﬁﬁm%wmﬁaaﬁ’wwma%%ﬁmm%:

10
12
20
25

b

Options :

1908896389. 1
1908896390. 2
1908896391. 3

1908896392. 4

Question Number : 124 Question Id : 1908891615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two numbers x€R and yeR are selected at random such that x€[0.4] and ye[0.4]. The
probability that the selected numbers satisfy the inequality v < x. 15

k-2

Wl = wlbd =] pa] =

Options :

1908896393. 1
1908896394. 2
1908896395. 3



1908896396. 4

Question Number : 124 Question Id : 1908891615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

& TEAM xeR A yeR Ao+ T F 30 TFR aj‘ﬁ ST § o xe[0.4] 37 ye[0.4]
SHH T 6 T g HEAT SWIEH y <x F HGE FA £, AeATee §

Wl il ra | =ra] =

Options :

1908896393. 1
1908896394. 2
1908896395. 3

1908896396. 4

Question Number : 125 Question Id : 1908891616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of z=3x+4y subject to the constraints x+y <40, x+2y<6.x20,y>01s
given by

1. 140
2: 170
3. 120
4. 180

Options :
1908896397. 1
1908896398. 2



1908896399. 3

1908896400. 4

Question Number : 125 Question Id : 1908891616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FAT sy < 40, 522y < 6,x 20,72 0 F 3T =3x+4y 1 H0Fam 7w oafofaa
&an fear e g

140
170
120
180

o =

e aa

Options :

1908896397. 1
1908896398. 2
1908896399. 3

1908896400. 4

Question Number : 126 Question Id : 1908891617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 n, o
Ifn—1)< (—) holds true for natural number n. then

2
I. n<2
£y w2
3. n>2
4. n=2only
Options :

1908896401. 1
1908896402. 2
1908896403. 3

1908896404. 4



Question Number : 126 Question Id : 1908891617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i (n— 1)1 < {E)n‘;l'l?y'_cf HEOT oF P Em g ar

2

®
'aY

[

n
n:
n=

FIT n=2

I =
Y
| I

s

Options :

1908896401. 1
1908896402. 2
1908896403. 3

1908896404. 4

Question Number : 127 Question Id : 1908891618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the imaginary part of (1-1)".(1+1)™ is negative, where neN, n < 100; then the sum of all the
possible values of n1s

625

1025
1225
1238

e s o =

Options :

1908896405. 1
1908896406. 2
1908896407. 3

1908896408. 4

Question Number : 127 Question Id : 1908891618 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFE (11 (14 FT HIAFCTT AT FOMHS &, @ neN, 0 < 100: T o % Toff ganfea
AAT H AT E

025

1025
1225
1238

b =

o

Options :

1908896405. 1
1908896406. 2
1908896407. 3
1908896408. 4

Question Number : 128 Question Id : 1908891619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given six line segments of length 2. 3. 4. 5. 6 and 7 units. Then the number of triangles that can
be formed by joining these lines is

10
13
14
20

B e

Options :

19088964009. 1
1908896410. 2
1908896411. 3
1908896412. 4

Question Number : 128 Question Id : 1908891619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

a‘am‘r:.m.::.m?wmmmmgm 9. 57 1@Es #f Ao ¥
A0 1§ Tl gl 1 wea g

10
13
14
20

bed =t

e o

Options :

19088964009. 1
1908896410. 2
1908896411. 3

1908896412. 4

Question Number : 129 Question Id : 1908891620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of words (with or without meaning) that can be made with the letters of the
word "INTERMEDIATE", if the vowels and the consonants occur alternatively in the words 1s

43200
21600
151200
75600

b =

= L

Options:

1908896413. 1
1908896414. 2
1908896415. 3

1908896416. 4

Question Number : 129 Question Id : 1908891620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



¥eg 'INTERMEDIATE" & &Rt & iU ST Hat aTel ol 1 $of G (34
foetr 3 aren) Forael & afE oredt & TX 3N UOE AR W AT E 0

43200
21600
151200
75600

o —

Options :

1908896413. 1
1908896414. 2
1908896415. 3
1908896416. 4

Question Number : 130 Question Id : 1908891621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The greatest term in the expansion of (x+y)'* when x=2, y=1 is

1. 18(:.5‘113
g B ol2
3. ‘g glt
4, Weg 510
Options :

1908896417. 1
1908896418. 2
1908896419. 3

1908896420. 4

Question Number : 130 Question Id : 1908891621 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FTx=2. y=1 8. 9 (x+y)'F TR H HAgcadH < ¢ :

18(:5. 2].“

. b
18(:6_ 11_
v all

ool 0
£
)

ISCE ! lll}

Options:

1908896417. 1
1908896418. 2
1908896419. 3
1908896420. 4

Question Number : 131 Question Id : 1908891622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
1."C1+2.°Cr+3.°C3+.....4n."Cy is equal to

nin+1) .

-

[ -]

_~_._'n-1_1
11[.211'1

2%

o

Options :

1908896421. 1
1908896422. 2
1908896423. 3

1908896424. 4

Question Number : 131 Question Id : 1908891622 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1.2C+2.2Cy+3.2Cy+... . "C e &

n{n+1) =

1.
oy
L
3. Wt
4. 2'-1
Options :

1908896421. 1
1908896422. 2
1908896423. 3

1908896424. 4

Question Number : 132 Question Id : 1908891623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U516
" . |=-=1){-=-1}{--1],
If a. b. ¢ are positive and a + b + ¢ = 1, then the minimum value of (ﬂ ( b c 1

o e

1
3
4. 16
Options:
1908896425. 1
1908896426. 2
1908896427. 3

1908896428. 4

Question Number : 132 Question Id : 1908891623 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1 1 1
o e Emasies, e~ NG Y6 Y AH A E

e
— GO o bJ

Options :

1908896425. 1
1908896426. 2
1908896427. 3

1908896428. 4

Question Number : 133 Question Id : 1908891624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a ray travelling along the line x =1 gets reflected from the line x +y = 1. then the equation of
the line along which the reflected ray travels is

L R

Options :

1908896429. 1
1908896430. 2
1908896431. 3

1908896432. 4

Question Number : 133 Question Id : 1908891624 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3fe T x=1 % Ffer ToAe o BT Y@ x4y=1, GERT Wafad g g A 3
T # . T sefeer wefda o afeme g g efefea &

y=0
x-y=1
x=0
x-y=1/2

o =

)

Options :

1908896429. 1
1908896430. 2
1908896431. 3

1908896432. 4

Question Number : 134 Question Id : 1908891625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Letz=1-t+iyt?+t+ 2, where t is a real parameter. The locus of z in the argand plane is

An ellipse

A hyperbola
A straight line
A parabola

o —

e

Options :

1908896433. 1
1908896434. 2
1908896435. 3

1908896436. 4

Question Number : 134 Question Id : 1908891625 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A Afew fFz=1-t+it+t+ 2§ ST (U IEQTEF T £ 94, 3ET FARAA
#owfagoug:

2. TF HiawaEed
. TF T @
4, TH RWaed

—_

-

Lot

Options :

1908896433. 1
1908896434. 2
1908896435. 3
1908896436. 4

Question Number : 135 Question Id : 1908891626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Coefficient of variation of two distributions are 50 and 60 and their anthmetic means are 30 and
25, respectively. Then. the difference of their standard deviations 1s

e L b
| )
2

Options:

1908896437. 1
1908896438. 2
1908896439. 3
1908896440. 4

Question Number : 135 Question Id : 1908891626 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&l d&Al & THNUT- A0 FAA: 50 HT 60§ TUT 38 WA AT FAT: 30 A 25
¢ 79, 3% AF S=ea # HHW E

[ -

e aa
—
L

Options :

1908896437. 1
1908896438. 2
1908896439. 3

1908896440. 4

Question Number : 136 Question Id : 1908891627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the first 10 positive integers. If we multiply each number by -1 and then add 1 to each
number. the variance of the numbers so obtained 1s

8.25
0.5

3.87
2.87

e o b =

Options :

1908896441. 1
1908896442. 2
1908896443. 3

1908896444. 4

Question Number : 136 Question Id : 1908891627 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TUH 10 Tllerd U AR A0 3 g vE s & -1 F o F AR
fFT 93 9Iog HEA F | A A 5§ 9N 9Iod HEATHT FTTEI0T ZA:

8.25
0.5
3.87

2.87

b =

Options :

1908896441. 1
1908896442. 2
1908896443. 3

1908896444. 4

Question Number : 137 Question Id : 1908891628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let

p: 57 1s an odd prime number.

q: 5 1s a divisor of 20.

r: 20 1s the LCM of 4 and 5.

be three simple logical statements.

Which one of the following is true?

PV (- qAr)
~pVI(gAr)
. (pAgQ)V T
. (pVQA-Tr

B e

Options:

1908896445. 1
1908896446. 2
1908896447. 3

1908896448. 4



Question Number : 137 Question Id : 1908891628 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT AT

p:57 T &9H AT HEAT £
q:20 T 5 TH AT+ g. X
r:20 FEATHT 4 HX 5FT LCM §:
W difes AT §

TR s FlaarFE g g

pV(~qATr)
~pV(gAT)
. (pAgQV-r
L pvqlA e

[ -

N

Options:

1908896445. 1
1908896446. 2
1908896447.3

1908896448. 4

Question Number : 138 Question Id : 1908891629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of real values of x satisfying ||K— 1l - 2| =2 i
1. [-2,6]
2. T3, 54
3. Jo.4
4. [-4,4]

Options :



1908896449. 1
1908896450. 2
1908896451. 3

1908896452. 4

Question Number : 138 Question Id : 1908891629 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[l =11 =2| =2 g7 gee. et a9y x % ATATAF A FT FHAT §

1. [-2.6]
2. [3,5]
3. [0, 4]
4. [-4,4]
Options :

1908896449. 1
1908896450. 2
1908896451. 3
1908896452. 4

Question Number : 139 Question Id : 1908891630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The angle of projection which gives a range of 8 km when projected with a veloeity of 400 m/s 1s

1.
(use g=10 m/s")

Pod ol | SO | =] =
w|ypelAe =g .

Options:



1908896453. 1
1908896454. 2
1908896455. 3

1908896456. 4

Question Number : 139 Question Id : 1908891630 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IE FEIUT FIOL S 400 m's F A F FENT e T 8 kn FT IRAT () T HAl
¢, @ (=1im < H 39 A ¢

n/12
n/6
n/4
2n/3

B

Options :

1908896453. 1
1908896454. 2
1908896455. 3

1908896456. 4

Question Number : 140 Question Id : 1908891631 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



When two equal forces are mnclined at an angle of 2o. their resultant 1s twice as great as when

they act at an angle 2f.

cosd

cosp

The ratio is equal to

Options :

1908896457. 1
1908896458. 2
1908896459. 3

1908896460. 4

Question Number : 140 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 1908891631 Question Type : MCQ Option Shuffling : No

9 & I 6 20% FIT T 3F & . 79 3AF TROTHT T 371 G 997 g

cosx

¢, [0 5@ 3 FN 2PN FT T & FI

3

{3

4

1
113

| R

oM

Options :

1908896457. 1
1908896458. 2
1908896459. 3

1908896460. 4

Question Number : 141 Question Id

cosf

T g

: 1908891632 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: If o and P are two distinct solutions of the equation 3€0sX +bsinx=c¢

tan (19 )
then 2 / 15 independent of .

: . NV = T T ] ffT T he
Reason R: Solution of 3C0SX +bsinX = € i pogsible if ~V&° +b"=c=va"+b

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A is not correct but R 15 correct

|

il

Options:

1908896461. 1
1908896462. 2
1908896463. 3
1908896464. 4

Question Number : 141 Question Id : 1908891632 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A & Fo U A0 § ;O F AR (A) 3R @ F T (R) FET T L

atp
=

HIFFIA (A}:ﬁumﬁm a cosx+b sinx=c, ¥ 21 = gl g:.(__n.tan( )EF[
A ¥ Had {‘ﬂﬂT gl

RED (R) : a cosx+b sinx=c FT gl HHT g.aflgVa tb scsyat+b° g
I FUA & A & faeied Feedt & ¥ 78 3o/ 4 -

L
(

A) T (R) 2t 7@ & AT (R). (A) B T T ¢
A) AR (R) A T T (R). (A) FT T AEw A g
(A) T § Teq (R) TET 7 £
(A) T 7§ g R) T L

Options :

=N LA [ ]

1908896461. 1
1908896462. 2
1908896463. 3

1908896464. 4

Question Number : 142 Question Id : 1908891633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as

Reason R
L T
Assertion A: The sum of the first n terms of the series 2 4 8 16 g2 " +n-1
Ell _ Al n+l)]
ReasonR: 1 +2+3+. . +n=""" 2

In light of the above statements. choose the most appropriate answer from the options given
below

. Both A and R are correct and R 1s the correct explanation of A

. Both A and R are correct but R 1s NOT the correct explanation of A
. A 15 correct but R 1s not correct

. A 15 not correct but R 15 correct

B

Options:

1908896465. 1
1908896466. 2
1908896467. 3
1908896468. 4

Question Number : 142 Question Id : 1908891633 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A1 o Fu T AT § : TF FF AR (4) IR G F dh (R) FET A B

HEFAT (A) : Soft 2 it + +J.6+ 'F GUAA 0TS FT I 2% 0-1 ¢

n(n+l]
T5 (R): 14283+, 40 =20 =7 &)

T FUA F HAF H AwAed Gwedt # § TE Feo) I

(A) 3T (R) =1 |Er € AT (R). (A) T TEr amrET

(A) Hi maﬂﬂw'é‘r?mrcr (R). (A) FT TET e A g
)

)

|_;

]

Hﬂxﬁﬁr?m—g R) ®er 7l &
4. (A) T T E Teg (R) T &
Options :

1908896465. 1
1908896466. 2
1908896467. 3
1908896468. 4

Question Number : 143 Question Id : 1908891634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one 1s labelled as Assertion A and the other 15 labelled as
Reason R

v,
Assertion A: If PQ is the chord of the parabola y = x- 2x + 3 passing through (1. = ). and a

¥
circle is described on PQ as diameter. then the circle touches the line y= A

Reason R: If a circle 15 described on a focal chord of a parabola as diameter, then it touches the
directrix.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A
. A is correct but R 1s not correct

. A 1s not correct but R 15 correct

e

Options :

19088964609. 1
1908896470. 2
1908896471.3
1908896472. 4

Question Number : 143 Question Id : 1908891634 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A9 & FF RU AT v F A () 3R GE F T (R)FE AL

AU (4): 70 PQ fag (1.%)#51&?{611?3@ Ao y=xX-2x+3 T T offar & ar PQ

7
ﬁ@mﬂmmwaﬁf@mm%ﬁaﬁqmmy:zﬁmimﬁl

7% (R): T e Waow & A Far 7 W 7T W & I 4w D
TE Iod T H T F g

I FYA! & el # fawtiha fawedt # § T 3ok I+

(AR ()3 T E AT (R). (A) T wE g
- (A) 3R (R) T T § e (R). (A)F T e A R
- (A)TE E Req (R) T A
- (A) W TE E ] (R T L

=N L) [ ) —_

Options :

1908896469. 1
1908896470. 2
1908896471.3

1908896472. 4

Question Number : 144 Question Id : 1908891635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT
A,

R2 L R¢=[0. x)
.f('}j T 1+x2
B.

2 IL Ry =[0. 1)
.f{x] T
C.

L. R = [0, 1]

f(x) = Vx%— 3x+2
D.

IV.Rs = (-, 0) U [1, w)
f(x) =1 —x2

Choose the correct answer from the options given below:

A-II.B-LC-IV.D-1III
A-TI.B-IV.C-1.D-III
A-TMILB-II.LC-IV.D-1
A-LB-IIL.C-IV.D-1III

b =

-

Options :

1908896473. 1
1908896474. 2
1908896475. 3

1908896476. 4

Question Number : 144 Question Id : 1908891635 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -IFEE - @ AT #ifew

T a0
- x?
x) = = LR:=[0. )
i f(x) e ¢=[0. )
f ¥yl = = : — i
5 0 =1 ILR;=[0, 1)
cix)=+x*¢—3x+2 LRs=[0. 1]

nl."

pDfx) =v1-x° Re=(-w, 0)U[1. =)

a4 fT 1T RFeeat # & ®Er 3cow gfav

A-II.B-LC-IV.D-1III
A-ILLB-IV.C-1.D-1II
A-IIILLB-II.C-IV.D-1
A-LB-IILC-IV.D-1III

| R

e L

Options :

1908896473. 1
1908896474. 2
1908896475. 3

1908896476. 4

Question Number : 145 Question Id : 1908891636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I [List 11
A,
T
™ —
1 [.4
d_.-
.[ 5+4cosx .
o
B.
n/4 »
gin 2x
j . g . 2
) cos*x+ sintx
Tad
w i
ECL‘IEH III 3
ecnsx + E—COE.\I
0
.
5 - IV.m
[
1+sinx
0

Choose the correct answer from the options given below:
1. A-II.LB-LC-IV.D-III
A-IV.B-LC-II.D-1III
A-TIILB-LC-II.D-IV
A-TI.B-IV,C-IIILD-1I

[ ]

e

Options :

1908896477. 1
1908896478. 2
1908896479. 3

1908896480. 4

Question Number : 145 Question Id : 1908891636 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -1 FEE -1 & gAfed fifsw

'\l:E,ﬁ' 1 -\qs_n- I
m
e
J 5+4cosx L%/
/4
J’ sin 2% s /2
§is
cos*x+ sint*x % 1L
B.o
| T
E.'.'—'DSX
f 9‘-’}"’.“3-"‘ + E_Ef???‘ d}( IIIHIS
co
I ™
.
—dx -
1+sinx IV
Do

A o av fospedt # @ WET e AT

A-II.B-LC-IV.D-III
A-IV.B-LC-II.D-III
A-TMB-LC-II.D-1IV
A-II.B-IV.C-IIILD-1I

b =

s

Options :

1908896477. 1
1908896478. 2
1908896479. 3
1908896480. 4

Question Number : 146 Question Id : 1908891637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT|
A

3]
cosecix— 2 I.2
1] —e
x-2 cotx— 1

B.
1
1 —sin’x &
lim = I «
x+% COE°X
C. 3
ex_;_,_e—x e 2 III. 2
lim —t
x=0 x2
D.
1342343 4.4 [V
lim 2
n—ce n

Choose the correct answer from the options given below:

1. A-LB-III.C-IV.D-1I

2. A-LB-IV,.C-III.D-1I

3. A-IILB-III.LC-LD-1IV

4 A-IV.B-III.C-1.D-1I
Options:

1908896481. 1
1908896482. 2
1908896483. 3

1908896484. 4

Question Number : 146 Question Id : 1908891637 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -IFEE - @ AT #ifaT

T I T -
 cosec’x— 2 |
im—————— 1.2

P x_;l cotx—1
? 1 —sin®x

G xl_l"%lr == II. 1/4

e*+e™* -2
& liné —_— II1. 3/2
N X

L 12 +22 433 4. tn® !
lim V.1

D. n—ea n*

A for ar Fsedt & & ®ET 3ca} g0 ¢

A-IB-NML.C-IV.D-1I
A-LB-IV.C-III.D-1I
A-II.B-IIILC-I.D-1IV
A-IV.B-III.C-L.D-1I

B I

Options :

1908896481. 1
1908896482. 2
1908896483. 3

1908896484. 4

Question Number : 147 Question Id : 1908891638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For any two sets of A, B and C. which of the following are true?
A (ANB)U (A-B)=A

B. A - (BNC) = (A-B) N (A-C)

C.(AUB)-C=(A-C)U (B-C)

D.AN(AUB) =0

Choose the correct answer from the options given below:

A and D only

A.C and D only
3. A.Band D only
4, C and D only

b =

Options :

1908896485. 1
1908896486. 2
1908896487. 3

1908896488. 4

Question Number : 147 Question Id : 1908891638 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fFft i gt A BN cF P famfR@a s asa aea 8 0

A. (ANB)U(A-B)=A

B. A-(BNC)=(A-B)N(A-C)

C. (AUB)-C=(A-C)U(B-C)

D. AN(AUB)=0

A fgr a1T RAFedt & ¥ WY e} A
1. ¥ AFR D

. HIAA.CHRD

. FEJABHRT D
F9d CHRTD

[ ]

:l‘.'..-'i..l-,-

Options :

1908896485. 1
1908896486. 2
1908896487. 3

1908896488. 4

Question Number : 148 Question Id : 1908891639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For any two vectors @ and b . which of the following statements is/are FALSE?
Axlal =344 <1 <2, then 1%l fies in the interval [-3. 6]
g [a+b]=[al +|b| @3 L b
c AxilP+RxjlP+[Axk =2[E12
- : 5 FRy - i
D. If the angle between two unit vectors d and b 1s s then 3@ — b is also a unit vector

Choose the correct answer from the options given below:

1. Bonly

2. Band D only

A and B only
A.Band D only

A

Options :

1908896489. 1
1908896490. 2
1908896491. 3

1908896492. 4

Question Number : 148 Question Id : 1908891639 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908896489. 1
1908896490. 2
1908896491. 3
1908896492. 4
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Which of the following are TRUE statements?

A, The vector represented by the complex number 2 - i is rotated about the origin through an angle

4
EFn the clockwise direction. Then, the new position of the pointis =1 = 2i,

. 147 3
B.If z N then arg(z) Sy

- 1+4a _ 6
C.It a=cosH +isin8,rl1e11m=1tani

D. There exists no value of x for which sinx +icos2x and cosx — isin 2x are conjugate to each
other

Choose the correct answer from the options given below:

1. BandD only

2. A BandD only
A and D only

. Bonly

e o

Options :

1908896493. 1
1908896494 2
1908896495. 3

1908896496. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

1908896493. 1
1908896494 2
1908896495. 3

1908896496. 4

Question Number : 150 Question Id : 1908891641 Question Type : MCQ Option Shuffling : No
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: ™
f(x) = sin®x +cos*x; 0 =x = -

Given . Whch of the given statements are TRUE?

1
A Local minimum value of f(%) is 2.

B. f(%) is increasing on [Z'ﬂ
c f;"': f'(x)dx = 1

T
D. Period of f(%) js 4

Choose the correct answer from the options given below:

A and B only
A and D only
B and D only
A.Band D only

B N o I

Options :

1908896497. 1
1908896498. 2
1908896499. 3

1908896500. 4
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f(x) = sin*x + cos*x;0 = x < gﬁIlT E’-‘-*T AN R T T E
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1908896497. 1
1908896498. 2
1908896499. 3

1908896500. 4



